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Law/ Constitution & General Knowledge

41.

Sound and light waves both

(A) have similar wavelength

(B) have properties of wavelength
(C) Travel as longitudinal waves
(D) Travel through vacuum

What is the full meaning of NRC?

(A) National Registration of Citizenship
(B) National Register of Citizens

(C) National Records of Citizens

(D) None of these

In case of Delhi, Chief Minister is appointed by-
(A) Lieutenant Governor

(B) President of India

(C) Council of Ministers of Delhi

(D) None of the above

Under IPC, Criminal Conspiracy is covered in
(A) Section 115 (B) Section 120
(C) Section 120A (D) Section 121

Which Constitutional Amendment bifurcated the
Combined National Commission for Scheduled
Castes and Scheduled Tribes into two separate
bodies?

(A) 42"¢ Amendment
(C) 89" Amendment

(B) 44" Amendment
(D) 93 Amendment

The idea of non-cooperation movement during
freedom struggle did not envisage:

(A) the boycott of civil services.

(B) the boycott of foreign goods.

(C) popular violence

(D) the surrender of British titles.

Who among the following is appointed as the new
finance secretary?

(A) TV Somanathan

(B) Ajay Sinha

(C) Ajay Bhushan Pandey

(D) Ravindra Jain

Which among the following is not among the other
directives (directives other than Directive Principle in
Part 4)?

(A) Article 335
(C) Article 338

(B) Article 350-A
(D) Article 351
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The genetic material of a body is constituted in DNA.
Where is this DNA found in a human cell?

(A) Ribosomes (B) Cell Membrane

(C) Nucleus (D) Cytoplasm

Which of the following cases is related to Centre-
State Relation?

(A) SR Bommai case
(C) Lily Thomas case

(B) I.R. Coelho case
(D) Shreya Singal case

An aquarium is

(A) a artificial biome

(B) a artificial biosphere
(C) an artificial ecosystem
(D) an natural ecosystem

Low salinity in equatorial regions is due to :
(A) daily rainfall

(B) high relative humidity & cloudy sky

(C) Doldrums

(D) All of the above

Parliament session begins with

(A) a meeting between the President, the Council of
Ministers and the Leader of the Opposition

(B) an address from the Speaker of the Lok Sabha
(C) President's Joint Addresses in both Houses

(D) swearing-in by all new members of Parliament

The Money Bill is defined in which Article of the
Constitution of India?
(A) Article 109
(C) Article 111

(B) Article 110
(D) Article 112

Match List | with List Il and select the correct answer
by using the codes given below the lists:

List1

A) 04 February

C) 30 January

List 2

1) World Pulses Day
3) World Cancer Day
Codes:

(A) A-1B-2 C-4 D-3
(C)A-1B-2C-3D4

B) 10 February
D) 28 February

2) National Science Day
4) World Leprosy Day

(B) A-3B-1C-4 D-2
(D) A-3B-1C-2 D-4

The highest airport in India is
(A) Dharamshala airport

(B) Pithoragrah airport

(C) Leh airport

(D) Dehradun airport

Which of the following Governor Generals of India
has been regarded as the maker of modern India?

(A) Lord William Bentinck

(B) The Earl of Dalhousie

(C) Henry Harding

(D) The Lord Auckland

Which of the following is a non-constitutional body in
India?

(A) National commission for Scheduled castes

(B) National commission for Scheduled Tribes

(C) National Human Rights Commission

(D) Election Commission

Which Schedule of Indian Constitution contains the
provisions on Panchayat Raj Institutions?

(A) Tenth Schedule (B) Eleventh Schedule

(C) Ninth Schedule (D) Twelfth Schedule

A vitamin requires cobalt for its activity. The vitamin is
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(A) Vitamin B12
(C) Vitamin B2

(B) Vitamin D
(D) Vitamin A

Match List 1 with List 2 and mark the correct answer
from the given code.

List1

A) Australian Open 2021 (Men's Singles)

B) French Open 2020 (Men's Singles)

C) Australian Open 2021 (Women's Singles)

D) US Open 2020 (Men's Singles)

List 2

1) Novak Djokovic (Serbia)

2) Naomi Osaka (Japan)

3) Rafael Nadal (Spain)

4) Dominic Thiem (Australia)

Codes:

(A) A-1B-2C-4D-3
(C)A-1B-2C-3D-4

(B) A-3 B-1 C-4 D-2
(D) A-3 B-1 C-2 D-4

Which of the following has launched the first-of-its-
kind Online Dispute resolution (ODR) handbook in
India on April 9, 2021?

(A) Reserve Bank of India

(B) CBDT

(C) NITI Aayog

(D) Ministry of Home Affairs

Which planet has largest planetary magnetosphere in
the solar system?
(A) Earth
(C) Mars

(B) Jupiter
(D) Neptune

Who has become the first Indian Woman to get 2021
Wild Innovator Award’?
(A) Sunita Narain

(C) Maneka Gandhi

(B) Dr Krithi K Karanth
(D) Medha Patkar

‘Halwa Ceremony’ is related to which event in the
Indian Parliament?

(A) New session of Parliament

(B) Joint session of Parliament

(C) Printing of budget documents

(D) All of the above

In India, which two Indian states are connected with
“National Waterway 5”7

(A) Karnataka and Kerala

(B) Odisha and West Bengal

(C) Andhra Pradesh and Telangana

(D) Haryana and Himachal Pradesh

Who can confer additional functions to the Union
Public Service Commission?

(A) The President of India (B) The Chairman, UPSC
(C) The Parliament (D) The Prime Minister

Who has been appointed as the new Director General
of the Border Roads Organisation (BRO)?

(A) Rajesh Ranjan (B) Rajeev Chaudhary

(C) Uday Banerjee (D) Ravish Shukla

Which of the following international organizations has
released its latest report on “South Asia Economic
Focus™?

(A) International Mutual Fund
(B) Asian Development Bank
(C) European Bank for
Development

(D) World Bank

Reconstruction and

Fundamental Rights can be suspended during an
emergency by:
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(A) Governor
(C) Supreme Court

(B) High Court
(D) President

Lord Cornwallis is known for

(A) permanent revenue settlement of Bengal
(B) attacking the caste system

(C) land revenue settlement of United States
(D) ryotwari settlement of Madras

The 19" edition of the Indian and French Navy
bilateral exercise VARUNA-2021 carried out in
the

(A) Caspian Sea

(C) South China Sea

(B) Arabian Sea
(D) Andaman Sea

Who administers the Oath to the Governor?
(A) President

(B) Chief Minister

(C) Chief Justice of High Court

(D) Outgoing Governor of the state

Which soil has high pH?
(A) Black Soils
(C) Laterite Soils

(B) Arid Soils
(D) Saline Soils

The Environment Protection Act of 1986, came into
force soon after which of the following disasters in
India?

(A) Bhopal Gas Tragedy

(B) Oleum Gas Leak

(C) Chernobyl Disaster

(D) Oil and gas leak in Assam

Which one of the following is not related to centre-
state relations?

(A) Sarkaria Commission

(B) Rajmannar Commission

(C) Puncchi Commission

(D) Kasturirangan Committee

Which type of Citizenship is provided by the
Constitution of India?
(A) Single citizenship
(C) Dual citizenship

(B) Regional citizenship
(D) Temporary citizenship

Who among the following scaled for Mount Everest
25th time in May 20217
(A) Kami Rita

(C) Shivangi Pathak

(B) Keval Kakka
(D) Anshu Jamsenpa

How many Parts, Articles and Schedules were there
in the original Indian Constitution?

(A) 22 Parts, 395 Articles and 8 Schedules

(B) 24 Parts, 450 Articles and 12 Schedules

(C) 22 Parts, 390 Articles and 8 Schedules

(D) 24 Parts, 425 Articles and 12 Schedules

Which one of the following Buddhist text mentions the
16 Mahajanapadas?
(A) Sutta Pitaka
(C) Khandhaka

Mathematics

One third of a certain journey is covered at the speed
of 80 km/hr, one fourth of the journey at the speed of
50 km/hr and the rest at the speed of 100 km/hr.
What will be the average speed (in Km/hr) for the
whole journey?
(A) 75

(C) 66.66

(B) Angutara Nikaya
(D) Abhidhamma Pitaka

(B) 67
(D) 76.66
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(A) 2/3 (B)1
(C) 4/3 (D) 3/4

The HCF and LCM of two numbers are 84 and 21
respectively. If the ratio of the two numbers is 1 : 4.
Then the larger of two numbers is :

(A) 12 (B) 48

(C) 84 (D) 108

A sum of money is paid back in two annual
instalments of Rs. 17, 640 each, allowing 5%
compound interest compounded annually. The. sum
borrowed was how much?
(A) Rs. 32,800
(C) Rs. 32,000

(B) Rs. 32.200
(D) Rs. 32,400

If 60% of (x - y) = 45% (x +y) and y = k% of x, then
21% of k is equal to:

(A)7 (B)1

€6 (D)3

The value of 9 x 6 +24 +8 +20f 5—-30+4 of 4 + 27
x5+9is:
(A) 647/40
(C) 259/8

(B) 493/8
(D) 243/8

There are 14 male employees and 12 female
employees in a department of an organization. In how
many ways can a male and a female employee be
chosen from the department to represent the
department in the employees union meeting?

(A) 168 (B) 120

(C) 145 (D) 180

If A's income is 60% less than B's income, then B's
income is what percentage more than that of A's
income?
(A) 80%
(C) 150%

(B) 120%
(D) 40%

In a class of 30 students, 16 like football and 18 like
volley ball, how many students like both sports?

(A) 4 (B) 6

©)8 (D)3

A person sold a book for Rs 21 and got a loss
percentage which was numerically equal to the cost
price. What is the cost price (in Rs) of the book?

(A) 30

(B) 70

(C) Both 30 and 70

(D) connect be determined

A trader marks his goods at 60% above the cost price
and allows a discount of 25%. What is his gain

percent?
(A) 30% (B) 20%
(C) 25% (D) 40%

A jar contains a mixture of two liquids A and B in the
ratio 4 : 1. When 10 litre of the mixture is replaced
with liquid B, the ratio becomes 2 : 3. The volume of
liquid A present in the jar earlier was:
(A) 20 litre (B) 10 litre
(C) 16 litre (D) 15 litre

The average marks in Math, Science and English is
72. The average marks in Science, English and
History is 64. If the marks in History is 56, what is the
marks in Math?
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(A) 78
(C) 80

(B) 88
(D) 91

The speed of the car increases by 2 km/hr every
hour. If the total distance travelled in 8 hours is 728
km, what was the initial speed of the car?

(A) 84 km/hr (B) 72 km/hr

(C) 96 km/hr (D) 80 km/hr

If 2A = 3B =5C, then whatis A: B: C?
(A)2:3:5 (B)5:3:2
(C)6:10:15 (D)15:10:6

The ratio of two numbers is 7 : 13 and their HCF is 8.
Their LCM is
(A) 628
(C) 872

(B) 782
(D) 728

Rama and Ravi can complete a work in 24 days.
They work for 15 days and after that Rama leaves.
Ravi completes the remaining work in 16 days. In how
many days, Ravi can complete the whole work alone?
(A) 120/3 days (B) 124/3 days
(C) 126/3 days (D) 128/3 days

A’s 2 days work is equal to the B’s work of 3 days. If
A can complete the whole work in 10 days then to
complete the work, B will take:

(A) 14 days (B) 15 days

(C) 12 days (D) 16 days

If the cost price of 16 articles is equal to the selling
price of 12 articles and the discount on 12 articles is
equal to the profit on 6 articles. What is the
percentage point difference between the profit
percentage and discount percentage?

(A) 22.22% (B) 11.11%

(C) 33.33% (D) None of these

A person saves 25% of his income. His income
increases by 20% and still he saves the same amount
as before, the percentage increase in his expenditure
is

(A) 253 (B) 24
(C) 25 (D) 262
1 . .
The value of Neare: is closest to:
(A)1.2 (B) 4.1
(C)4.2 (D) 3.7

Two numbers are in the ratio 4:5. If their HCF is 16,
then the sum of these two numbers is:

(A) 144 (B) 124

(C) 160 (D) 150

Ms. Revathi borrowed Rs. 600 at 6% per annum
simple interest. What amount (in rupees) will she pay
to clear her debt after 4 years?

(A) 700 (B) 150

(C) 744 (D) 144

The probability that A can solve the problem is 3/5
and B can solve it is 2/3. If both of them attempt the
problem, then what is the probability that the problem
gets solved?
(A) 11/15
(C) 2/5

(B) 3/5
(D) 13/15

If x+y+ 2z =10 and xy + yz + zx = 15, then find the
value of x3 + y3 + 73 — 3xyz.
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(A) 660
(C) 550

(B) 525
(D) 575

If three unbiased coins are tossed simultaneously,
then what is the probability of exactly two heads?

(A) 3/19 (B) 8/13

(C) 4/17 (D) 3/18

Let, A={1,2 3,4,5 6}andB=1{1, 3,5, 7,9, 11}.
Then find the set which represents the shaded portion
in the figure given below?

. V45-+/54
Find tlhe value of Nor ;
(A) 13 (B)13
©)1 (D) 15

4

A single discount equivalent to three successive
discounts of 8%, 15%, and 12% is:

(A) 17.5% (B) 68.816%

(C) 35% (D) 31.184 %

Small spherical balls of radius 0.7cm are dropped into
a cylindrical container of diameter 7cm, which
contains some water. Find the number of spherical
balls that should be dropped in to the container, so
that water level rises by 5.6 cm.

(A) 130 (B) 240

(C) 150 (D) 250

X+ 7 +. 5 . X+
22 =Zand =2 findZ2 2
z 2 X 4 y

(A)-1 (B)5
(€)3 (D) 2
Ifa+al=5thenad+a3dis:

(A) 80 (B) 110
(C) 10 (D) 140

The average of 50 results was calculated as 30 but
later it was found that while calculating, 73 was taken
as 33 by mistake, then what will be the correct

average?
(A)29.2 (B) 30.8
(C)31.6 (D) 34

If A’s income is 40% of B’s income and B’s income is
24% more than C’s income, then by what percentage
is C’s income more than A’s income? (Your answer
should be correct to one decimal place.)

(A) 104.2 (B) 75.6

(C)101.6 (D) 50.4

The sum of the internal angles of a regular polygon is
1620°. What is the number of sides of the polygon?
(A) 12 (B)9

()10 (D) 11

Direction (116-118): The below-given pie-Chart shows the

percentage distribution of players of SAIl stadium
Lucknow(Total 300 players in different games).
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Number of Players 124. If the day before yesterday was Friday, what day will
two days after the day after tomorrow be?
; (A) Saturday (B) Thursday
» Golf .
At : (C) Friday (D) Sunday
Basketball 9 \ 125.  Kavya's birthday is on Tuesday 4th July. On what day
of the week will be Anika's Birthday in the same year,
if Anika was born on 15th August?
(A) Wednesday (B) Friday
(C) Saturday (D) Tuesday
23 17 126. Which answer figure will complete the pattern in the
question figure?
Tennis Hockey
21 ?
Football
116. Find the Difference between the Cricket and
Basketball players?
(A) 38 (B) 39
(C) 42 (D) 36
117. Find the ratio of Hockey & Football players with the
Golf & Tennis players, if 21 players of Hockey is
added into academy and 9 Tennis players left the
Stadium. (A) ! (B)
(A) 45:28 (B) 28:45
(C) 81:67 (D) 84:133
A
118. Find the Difference of Basketball and tennis players, if
36 basketball players added in the SAI Stadium?
(A) 8 Players (B) 9 Players ©) D)
(C) 6 Players (D) 7 Players
119. What is the compound interest on ¥5000 in 2 years at - Lrom?h?g?\grr:%l?eurisattli?/g’s select the missing number
the rate of 20% per annum? (interest compounded '
half yearly)
(A) 2340.50 (B) 2275.50
(C) 2290.50 (D) 2320.50 M m
120. In AACE, B and D are the point on side AC and CE,
respectively, such that BD q v
BD || AE and AE = gBD. What is the ratio of the area
of ABDC to that of AAEC?
(A)3:8 (B)8:11
(C)9:64 (D)9:16
(A) 216 (B) 125
Mental Aptitude Test ()36 (D) 343
121. Select the option that is related to the third term in the 128. Af i; B|_'|S wi_fe‘z htis?ag?‘sé)’;other. C and D are sisters
same way as the second term is related to the first orB. How IS A refated to .- . .
term. (A) Brother (B) Sister-in-law
House : Kitchen :: Plant : ? (C) wite (D) Sister
Eg EI(()JS\:Zr EliB)g ;ﬁg‘:ﬁ; 129. Read the given statements and conclusions carefully.
Assuming that the information given in the statements
122. Five phones, H, M, R, T and V are kept one above is true, even if it appears _to be _at variance .With
the other not necessarily in the same order. The Commof"y knom_/n facts, decide which of the given
number of phones above T is the same as the conclusions logically follow(s) from the statements.
number of phones below V. R is just above H. V is at ftz;temen:sa N list
the bottom. There are two phones between M and V. 2' Some IS Ltj ents are 'Z eners
Which of the following phones are above R? - SOME IISIENETS are ObSErvers.
(AYMand T (B)Rand | 3. Many students are not observers.
(©)Mand Vv (D) M and H Conclusions:
|. Some students are observers.
123. A+B means A is the sister of B. A~B means A is the Il. Some observers are not students.

App :- htt

brother of B. AxB means A is the father of B. A +B
means A is the mother of B. Which of the following
expression represents P is sister of Q?
(A) P tR+Q (B) PxR=Q
(C) P+R £Q (D) P+R+Q

bit.ly/TesMusPrime
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lll. Some observers are listeners.
(A) Only conclusions | and Ill follow
(B) Only conclusion 11l follows

(C) Only conclusion | follows

(D) Only conclusion Il follows
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130. Which letter will replace the question mark (?) in the
following series?
G ILFK?,0,B
(A)D (B)N
©oT (D)L

131. A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
15, 35, 63, ?, 143, 195
(A) 99 B) 77
(C) 85 (D) 98

132. Direction: In the following question, a statement is
given followed by two courses of action. Assuming
everything given in the statement is true, decide
which of the option logically worth pursuing.
Statement:
During a flight, the pilot found that one of the engines
of the airplane is not working.
Courses of action:
I. The pilot should try to land in the nearest airport as
soon as possible and follow the instruction from air
traffic control.
Il. Crashland immediately and do not wait for any
instructions as it will waste time.
(A) Only | follows
(B) Only 1l follows
(C) Both I and Il follows
(D) Neither I nor Il follows

133. Study the given pattern carefully and select the
number that can replace the question mark (?) in it.
(A) 82 (B) 96
©) 74 (D) 64

134. You are given a question and two statements. Identify
which of the statements is/are necessary/sufficient to
answer the question.
Ratan is 2 years older than Imran who is twice as old
as Nadeem. What is the present age of Imran?
Statements:
1) The total of the ages of Ratan, Imran and Nadeem
is 27.
2) Ratan is older than Nadeem.
(A) Statement 2 alone is sufficient
(B) Statement 1 and 2 together are necessary
(C) Statement 1 alone is sufficient
(D) Statement 1 and 2 are not sufficient to solve

135. A question and two statements labeled (), (Il) are
given. You have to decide which statement(S) us/are
sufficient to answer the question.
What is Guna’s age?
I. Guna, Vinay and Keshav are all of the same age.
II. Sum of ages of Vinay, Keshav and Arjun is 32; also
Arjun is as old as Vinay and Keshav together.
(A) Statement Il alone is sufficient.
(B) Both the statements together are needed
(C) Either I or 1l alone are sufficient.
(D) Statement | alone is sufficient.
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136.

137.

138.

139.

140.

If in a certain way ROCKET is coded as XLIGVP,
then how MOBILE will be coded in the same manner?
(A) YLNVLR (B) YLNVOR
(C) YLNUOR (D) YLMVOR

Select the option in  which
embedded(Rotation is not allowed).

Figure-X is

Fagnine &

5] E

(A) (B)

(©) (D)

In a certain code language ‘PSYCHOANALYSE’ is
written as ‘! @

#$%"&*&<# @ >'. How will ‘CANALS’ be written in
that code?
(A) $&*&< @
(C) $&*&# @

(B) #%*%< @
(D) @ #°&"%

Which answer figure will complete the pattern in the
question figure?
Question Figure :

Answer Figure :

(1) (@) 3 (4)

(A) Fig.(1) (B) Fig.(2)
(C) Fig.(3) (D) Fig.(4)

The sequence of holding a piece of paper and the
manner in which the folded paper has been cut is
shown in the following figures. How would this paper
look when unfolded?

Question figure:

(A) (B)
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141.

142.

143.

144.

145.

146.
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O 0O O
O O

O 0O O
© )

A word and number arrangement
machine when given an input line of words and
numbers rearranges them following a patrticular rule in
each step. The following is an illustration of input and
rearrangement.

30 58 78 46 wsdr

Input: ponb mesr cknh

Step I xtes 157 ponb mesr 30 58 46 cknh
Step Il: gpoc 117 xtes 157 mesr 30 46 cknh
Step lll: nfts 93 gpoc 117 xtes 157 30 cknh
Step IV:dloi 61 nfts 93 gpoc 117 xtes 157

Step \ is the last step.
Answer the following questions based on the
following input: -

Input: bvgr ktwqg 64 96 18 36 11 rexv cgby asdf

What will be the last step of the given input?

(A) dhcz 73 luxr 129 bteg 23 cwhs 37 sfyw 193
(B) bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193
(C) luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf
(D) cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf

Which of the following word/number will be second to
the left of fifth from the left end in step IV?

(A) 11 (B) asdf

(C)73 (D) dhcz

What will be the difference of biggest number of step
IIl and second number from the left end of step V?
(A) 128 (B) 120

(C)78 (D) 170

Direction: In the following question, two statements
are given, followed by two conclusions | and Il. You
have to consider the statement to be true even if they
seem to be at variance from commonly known facts,
You have to decide which of the given conclusions, if
any, follow from the given statements.

Statements:

(1) Due to contamination of water, large numbers of
people were admitted to hospital.

(2) The symptoms were of Typhoid

Conclusions:

I. Contamination of water may lead to Typhoid.
Il Typhoid is a contagious disease.

(A) Only conclusion | is true

(B) Only conclusion Il is true

(C) Both conclusions | and Il are true

(D) Both conclusions | and Il are false

In the following question, select the related group of
letters from the given alternatives.

BD: YW :: HJ: ?
(A) SR (B) QQ
(C) sQ (D) ST

A question and three statements labelled (1), (II) and
(1) are given. You have to decide which statement(s)
is/are sufficient to answer the question.

Question: What is the average weight of A, B, C and
D?

Statements:

I. Weight of B is 18 kg more than A and 20 kg more
than C. Weight of D is 40 kg which is 10 kg less than
C.

bit.ly/TesMusPrime 9|Page

147.

148.

149.
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Il. Average weight of B and C is 60kg. A’s weight is
12 kg more than D’s weight.

(A) Only statement | is sufficient.

(B) Statement | and Il together are sufficient.

(C) Data is not sufficient.

(D) Only Il is sufficient.

Select the option in which the given figure is
embedded. (Rotation is not allowed)

N
£
3]

Select the option in which the given figure is
embedded. (Rotation is not allowed)

{
X o

Choose the option that most closely resembles the
mirror image of the given Figure when mirror is
placed at right side.

(A) (B)

O

ol L&

n°

(A) (B)

O

s

T

(© (D)
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150.

151.

152.

153.

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.
AZ, GT, MN, SH, ?
(A) YB
(C) YD

(B) VE
(D)RI

Which answer figure will complete the pattern in the
question figure?
Questions figures :

Answer figures :

NN >

(a) (b) (c) (d)
(A) Figure (a) (B) Figure (b)
(C) Figure (c) (D) Figure (d)

If ‘ANSWER’ is coded as ‘NBWTRF’ then what is the

code for ' MYSORE’?
(A) YNOTSE (B) YMOSER
(C) YNOTES (D) YMOTES

Three statements are given, followed by three
conclusions numbered |, 1l and Ill. Assuming the
statements to be true, even if they seem to be at
variance with commonly known facts, decide which of
the conclusions logically follow(s) from the
statements.

Statements:

I. All markers are pens.

II. No pen is pencil.

Ill. Some pens are sharpeners.

Conclusions:

|. Some pens are markers.

II. No marker is pencil.

[ll. No marker is sharpener.

(A) Conclusions | and Il follow

(B) Conclusions Il and IlI follow.

(C) Either conclusion | or 1l follow.

(D) Conclusions | and |11 follow

Direction (154-156): Study the following data carefully and

154.

App :- htt

answer the questions accordingly.

Eight cricketers M, N, O, P, Q, R, G and H stayed on
eight different floors of a hotel in England during world
cup but not necessarily in the same order. The
ground floor is numbered 1; the floor above it is
numbered 2; and so on, until the topmost floor is
numbered 8. O stayed below R. Q did not stay
immediate above G. More than two people stayed
between H and G. R stayed on odd number floor but
not on the third floor. H stayed immediate below R.
Six persons stayed between M and G. P stayed
immediate above Q but below N.

Who among the following stayed on the sixth floor?
(A)N

(B) The one, who stayed just below M

(C) The one, who stayed three floors above O

(D) The one, who stayed between R and N

bit.ly/TesMusPrime 10|Page

155.

156.

157.

158.

159.

160.

The number of persons stayed between M and P is
same as the number of persons stayed between O
and

(AN
CH

(B) R
(D) G

If H is related to P and R is related to N then, in the
same way, Q is related to -
(A)O
Ok

(B) N
(D)G

In the following question, one statement is followed by
two Assumptions | and Il. You have to consider the
statement to be true, even if they seems to be at
variance from commonly known facts. You have to
decide which of the given assumption(s), if any,
follow(s) from the given statement.

Statement: “Peace and justice are the two side of the
same coin.

Assumptions:

I. Peace and justice cannot coexist.

Il. Peace and justice thrive together.

(A) If only assumption | is implicit.

(B) If only assumption Il is implicit.

(C) If neither | nor Il is implicit.

(D) If both | and Il are implicit.

In the following question, one statement is followed by
two Assumptions | and Il. You have to consider the
statement to be true, even if it seems to be at
variance from commonly known facts. You have to
decide which of the given assumption(s), if any,
follow(s) from the given statement.

Statement: “If you work hard, you will pass the
examination”.

Assumptions:

I. You will not pass the examination.

Il. To pass, you must work hard.

(A) If only assumption | is implicit.

(B) If only assumption Il is implicit.

(C) If neither | nor Il is implicit.

(D) If both | and Il are implicit.

Statement A: / A green leaf doesn't resist turning red
when autumn approaches.

Statement B: Likewise, humans must also not fight
the law of the Universe.

Conclusions:

I. Leaves turning red in autumn is the law of the
Universe.

Il. Humans are not that different from leaves.

(A) Neither I nor 11 (B) Only 11

(C) Both land 1l (D) Only 1

Three friends A, B and C are standing around an
equilateral triangle park in such a way that A and B
are standing at the base and C is standing at the top
corner. The measure of each side is 6 meters. B is
standing at the south-east of C. A and B walk towards
North-West and North-East respectively for 6 meters
at 60-degree angle. Then B and A turn towards their
left and right respectively and meet at C. What is the
distance between A and B now?

(A) 6 meters (B) 0 meters

(C) 28 meters (D) 7¥2 meters
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10.

11.

12.

13.
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Answer: (B)

TBAMES ded-o arad § gadl ® 33T, HIEHI,
3efiate anfe &1 UG Udhe BT 8, I SWAES alad
Pgd gl

Answer: (D)

98 Hid off ThTd Hiddl S H HRA 8 I &
T T TG - SRS a

3 faded -

goid BT 34 - 33T 1 IqH Hid

TRIH I BT 31 - ARTHT ST AT

Answer: (A)

33 T faseut ¥ 9T Tsg SuqEi A ®
fdwr-fa + 3w

IRYE - W + U¢

BeH - 35 +1H

Answer: (D)

& A 13 100 T B =R @t &R T & v
yaferd Wfees WEUl DI &M | [Wd §U 8- HBHT Bl
U% 3VAH Weg U g 45 I fg<t H Ul Hgd g
Answer: (B) f&d TR TRIIYT & YR a1 '3 UIRIA®H
T I Gad BRI B T eg JIGIHSG =m0 g1 T
I g S T T U AHR T Ve Y fA=wor
5 aRg faxivar ga1d €, 3 e fARiv Hgard g
Answer: (B) f&3 0 visg] & poe U ¥ FfHd weg
TP PT + TP Ul S AN ¥ &1 ® T TH'
TY T 21 U TeE & 9D (I § 98d § e
o Weg & S (4d) Fod 71 AW fabed 3Rl 5
Answer: (D) THIN&" g TfY BT ISTERUT Ta! &l
mﬁ?%aswuqummwﬁmw
FRI

I fadhed TUR FT WY fdwse 9 + R, 3dd &1 $ifa
+ 3 3R YEMR BT q + 3R T

Answer: (C) T & SR 3RATHIfAS" Teg H IUTIH
3R YT A 81 SIH GHIT d e, '3 JUT 3R
3" U g A Ihed 3R B

Answer: (C) f&d T TR & SFIER "3 S UG
o foRIvur &1 Uhi 78t g3 8§ Siees IRIGR HRB Bl
TINT §31T ¢ | TRal Al o, M1fes fawman ofik we TRom
T fa=IwoT &7 U g Bl

Answer: (A)

TIRIATES A - ford oM ¥ fheft gk 9d s I
Trey R fobaT oy, I8 Freyarad 9o+ Hed gl
S —oMgT-99T, S-4l|

I &1 Ufecsd 3 §-TasT a1 3rufd fadt I &
R & S a1 ga & U U S WE R 9gad g9
Il Veg FATH HEAN ¢ | o-gH, gH, T 31|
Answer: (B)

TRBAMAG ded-foF g | dadl & 33, HIEHI,
3mefafe 31 HT1 HIG Yabe BiT 8, I8 SHIaED A
FEd g

Answer: (B)

ST & "ORATA M IR Bl ' 3HTeg] TUS' & AH I off
T SIAT 81 39H HEIET (S.T.) P IR 3MTegl 3R Hed o
FRaAT P YT, IR U F 3y 3R A YW & gad
QUG B Tl b0 IR AT B

1865 . § ATeH 3ferge 3 forg ' 31Teg] WUS' &1 YHRH &
AT T, 98 AR RERT R &) 3nelRd g1 s ufa &
YR TR ST YR N A "IRAT ¥4l &7 16 Ryl
o fobar 3R I ANRY v=iRoft GHT / U TRId B
Answer: (B)
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14.

15.

16.

17.

18.

19.

20.

21.

feufif & I RRR W o Rrer & 2 sig a8 U
&7 "I HeTeTed ¥ ot Tt § e Tafidr s
FR TIG € | HTHE STATEre! I &1 oy ft wet
HTH | BT Bt IG11936 5. B UHIAT g3 |
SRR TG -

Rl ®fd, TCH PR, FEHIBR, STINHR adT -
éﬂ@;%é%ﬁ%@ﬂﬁﬂgﬂ%ﬂﬂﬂg@ﬁlﬁﬁﬁq
F Bl

SRR YHIe Bl @A - UH-

Answer: (D)

$S = -3, F I (B, T, 7, 9, T)
ag-g—s‘,aaﬁ(%r,@,ﬁr,s{a)u,m

g -B, T F ([, 3,8, 3, M, I, ¥

Td=dai (@Y q Y™ d =" @ qof g = 3I-
GG,qaﬁ(q,tg,a,u,u)

Hodd = T-

Holg = -3t

Answer: (D)

FS U el b I A 'S F VM R FH UG @
PR ITPT 3= foltT ST S B

SY: qUGT - quiegHT

3T I -

feir - d & 59 ®u 4 gfdd a1 a¥g &t R a1 HWeT
a1 1Y 8, Y A0 | T Hed g1

ORI - RF T wed! A g Sfifq &7 Sy e B, I/
Jd-aX, &4, dh], TTShI)

AT - o T Wsg F W Sfd BT Y g 8, I
AT Fed g1 @QT, I, 9, P, saRan, gRe,
Answer: (B)

U S WM R TG g a1 Wed DI FATH Hed
%l@ﬂéﬁwﬁqmﬁ$mmmmm
STl

SR- § q, qM, 31U, 98, 9 S|

Answer: (A)

fqu T fawedl & ¥ g3 $ad o9 $UT AT a6 Y
< B, 3 fadeu 3IyE 3

Answer: (A)

S M e T TaT 31 - Ue B 3T Bl & 3 fapey
STGRIR Weq, & et 3f TSR |

3 fapeal & 3k -

S I 3N - FSaid

T B! 3T - grEd

Answer: (B)

quf aTey - 4R R Y TES § UdeH &t ughi e
gfafe Sed! o 361 81

fawe

gad &1 3 - Ugd BT, ST

UgeH &1 1Y - AW U F g, IHSHT

yraa &1 31 - g 3, e ST

Answer: (B)

I AUS Eet BT UUH JHARIR U UT| STHT UHTRH
3073, 3¢RE 5. H popdl I U Idlied U & =7 H
I g3 T

Answer: (C)

'3Te A BT UG HIGH T GeTaR &1 o "HioTs
1 I g &

eTa - 'GeTaY’ &1 3 Siadrd &1 U & Widfdd ¥4
Y {5t HIg ) Ushe PR BT B

3(d: 9g1 faped ¢ "Hi3TS BT IH AT ]
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22.

23.

24.

25.

26.

27.

28.

29.

30.

App :- htt

Answer: (A)
aﬁgﬁgﬁ%&r&fﬁwsﬁ%ﬁwﬁm@'
|

%mruanwwvﬁw%m%ﬂﬁmmmw
|

Answer: (D)

JETe Ud, geTedl adf 39 ST URT & FiaFiy Hfd

A S €| BHTATE AHGR $T AT TPHeeR Tusy o

ST ®

Answer: (D)

TETaR &7 37d-

1. -1l TG - GO Tdhe Al

2. ST T - Hefdh TR

3. A BT - TS IR A G

4. Sfcedl IBEHT - dgd 3B G BT

31d: faped (d) TE IR g

Answer: (B)

U1 B3 e wred foret wireht €1 o8 91l A <l fordt

ST &1 SR A 52 iER g B

Answer: (D)

Tolt R THRR v & Tures It dequr Rig A1 ol

err Rz 3 3MRT ¥ goniRdd Ame td uF e

TUT FITET & TG, Fegd SR UM Mpaay &1
3fgare i fasar| e wenor Rig A RaR fee &t Brat

earactt gad fgal fora &t Hifa &1 faRly fan s5i4

< Rl foram &1 e feram

Answer: (B)

AT - AT BT a8l § - IfSEHR0T| 3ThT

feaap 31 BT & BleT U U o1d & a7 &l T 34

el F TR T =701 3R BleT eg 70T & 39 Vg Bl

A Fed o

HETEIT &1 TAN g - T 8 o glu

(FHYRY JAT)

FHYRY TN - 98 TN et ygar ug fagivor we

GIRT UG O g § erual U9 ITRUE H SUAM

- IUHY BT A M WAl ¢ PHYRY JAN Hgard

gl
SIY- HETEIu & 819 3@ hd © 1o ¢1U & e g %
fIRIYAT IaTS o YT § 3fck: T§ IaTeUl FHYRY WHN
& Siqifd sman|
Answer: (B)
3fordtHTd GHI § Ugdl 91 gduS 3(oid gl § 3R 39
1 3 YU BT 81 310y & TANT T THIAUG HY 3oy
9 11T 8 | 39N gdUS W 8l § | rerdiyid Iu &
REARRLUI
* JTSTH: OFF I PR
* gyHfd : Afd & AR
« gfafed : faq-faa
* JTSlaH : Sfta HR
Answer: (C)
Ygarae I - o Weg Al W wm uerf @t
STRT, G T UG P §1Y Hd 8, 37 sl &
YIgdTrIe I Hed 8

|
ASTHET B Yardl BT g BT 9gd &l Hio 8 |
Yexdl g T Y 8 b U BT a1y Y g1 g1 3fck:
Yl U HadTdd I3 Tes 3|
Answer: (D)
T S BT Sy BRI a1l el b AT g HEd B

bit.ly/TesMusPrime

2|Page

31.

32.

33.

34.

35.

36.

37.

TG TG Tl S BT Sy BRI 3 3 T, T g
|
Y- ASHT BT Wi ‘ASH!' B

Answer: (B)

fH & UuH TWHR dwqed § Il UHE
T TR 81 URdg sREs T wifed & wuH gu
YRAG T & Udde g

Answer: (D) }
Yiadrad T | 93, §e, 9C I 3fd gH e I
WA I 31

fRaert - iRl

Answer: (A)

fopaft off faxiv =afda, avq o1 M & A8 &1 1Y A
el T € Afdaare I e § 159d fdid —
feT , ®IF , ot 31 &1 Sy fBar Sfar §1 W,
AR SR T gt fdiaras O3 8,
Answer: (B)
gwﬁamﬁﬂﬁ%?%ﬁ%mqam%w
|

e, SamBRul, 3faem, Wi onfe fafy fawdl w
SR U 34 GBI BI o1 Bl o Riavwrg 3
el # Frafead e Sgd uRiE §-

AHTYHIR

qH HARSH

SRS BT HIaT

fareipy

ST HIST &7 JUAT

3faer faftR A

et g

HaAHE-3H (THDB YT

fofy gra=h ufdde (1868 %)

Answer: (B)

3P VGl & TP TMeg :- YW H B3 sl & WM WR

%w?@amsnwaﬁuumwﬂqﬁw

|

o o 3@ ft 7 81 &1 sifdhe Fgd B

3 fapedt & 3ref -

wrff &1 oo St oA fRd & R # e g

el &1 3 S gt B gHE P A S@ar |l

el drgarel &) WA HEa g

Answer: (A)

for U et H a ey T8 § Hife o &7

IR foA T TR & -Tg! foam S|

S T BT & - il 9uf Wi 1 Jeradl F Sidt old &

I% o HEA &l B FoH P IR F 3 WR

BT 21 3 P o S BT SR A1 81 FobaT|

g

Answer: (B)

Pt 2reg 1 fAud a1 IeeT 31 A 91 Usg B f3eliw
6% T & | GUR Xeal | BT o dl TP el P famia
g1 JeeT 3 2 I Yee, faaiH eelid g1 3rd: fadm &1
31 B -Ieer a1 faRieht 3ef 3 v |
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Answer: (C)

ot BT 34 - gat 7 31 I U H el f U
Sffireged B 1 fspaT b ped B

el ad-l 2P ¥ R[S Wed ¢ 1 Wl HT Yg =Y
FeWfd 8, og ut o+t wgt 31

3 fadweq

e 1 34 - ufer, Jar

FHartEt o1 31 - wfar == g Wi

Ioad P13 - e, WD

Answer: (C)

1 B IJUEHT bac SHIY §3, Fifch IAsila JHDT (UM
Y gfaam Bl

Answer: (C)

S &™ R, Iat TR et g § foaH-
I Real o SINY favegl &l diell H G SamT off g7
B 3 fawpe ¢ Tgt grm|

JIERARS FaaH - o9 TaqH et BT gaT foedt
TG 1 Afed BT T~ FdH & g fHar 9Y 7 g
YIS/aTIP Ja-TH Hgdld o

S - O-99, St-3gt, fSramr-Saqn, S 3nfe

Law/ Constitution & General Knowledge

41.
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43.
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Answer: (B)

Sound and light waves both have properties of
wavelength, frequency and amplitude.

Both are forms of wave motion.

Sound is a form of mechanical energy caused by
vibrations of matter. Light is electromagnetic energy
caused by interacting electric and magnetic fields.
Answer: (B)

* NRC stands for National Register of Citizens.

* NRC was first prepared in Assam in 1951 after the
Census 1951 was conducted.

» The National Register of Citizens (NRC) is a register
of all Indian citizens whose creation is mandated by
the 2003 amendment of the Citizenship Act, 1955
Answer: (B)

The 69th Constitutional Amendment Act of 1991
provided a special status to the Union Territory of
Delhi, and redesigned it the National Capital Territory
of Delhi and designated the administrator of Delhi as
the lieutenant (It.) governor. It created a legislative
assembly and a council of ministers for Delhi.
Previously, Delhi had a metropolitan council and an
executive council.

The strength of the assembly is fixed at 70 members,
directly elected by the people. The elections are
conducted by the election commission of India. The
assembly can make laws on all the matters of the
State List and the Concurrent List except the three
matters of the State List, that is, public order, police
and land. But, the laws of Parliament prevail over
those made by the Assembly.

The strength of the council of ministers is fixed at ten
per cent of the total strength of the assembly, that is,
seven—one chief minister and six other
ministers. The chief minister is appointed by the
President (not by the It. governor). The other
ministers are appointed by the president on the
advice of the chief minister. The ministers hold office
during the pleasure of the president. The council of
ministers is collectively responsible to the assembly.
Answer: (C)

Criminal Conspiracy is included under two sections,
i.e., section 120A and 120B and explains criminal
conspiracy as - When two or more persons agree to
do, or cause to be done, an illegal act, or an act which
is not illegal by illegal means, such an agreement is
designated a criminal conspiracy.
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Answer: (C)

+89™ Constitutional Amendment Act bifurcated the
Combined National Commission for Scheduled
Castes and Scheduled tribes into two separate
bodies.

« There have been 104 amendments of the
Constitution of India since 1950, as of 2020 January.

+ 42nd Constitutional Amendment Act is also known as
Mini constitution, it added Socialist Secular and Unity
words in Preamble and added Article 51A as
fundamental duties. It was enforced since 2
November 1976.

43" Constitutional Amendment Act was enforced
since 13 April 1978 and it restored SC and HC
jurisdiction of judicial review powers.

+ 44 Constitutional Amendment Act was enforced
since 6 September 1978 and it replaced the term
‘internal disturbance’ by ‘armed rebellion’ under
national emergency provisions.

« 93" Constitutional Amendment Act of Indian
Constitution was enforced since 20 January 2006 and
it provided for 27 percent reservation for other
backward classes in government as well as private
higher educational institutions.

Answer: (C)

e The idea of non-cooperation movement during the
freedom struggle did not envisage popular violence.

e The idea of non-cooperation

movement during  freedom  struggle envisages
the boycott of civil services, the boycott of foreign
goods and the surrender of British

titles.

e The non-cooperation Movement

was launched on 31st August 1920.

Answer: (A)

* T V Somanathan was appointed as the new finance
secretary in April 2021.

* In April 2021, Appointments Committee of the
Cabinet (ACC) has approved designating T V
Somanathan, Secretary, Department of Expenditure,
Ministry of Finance as Finance Secretary.

* Earlier, he was the Secretary of Department of
Expenditure.

* He has replaced Ajay Bhushan Pandey.

* TV Somanathan is a 1987 batch IAS officer of Tamil
Nadu cadre.

* Currently, Nirmala Sitharaman is serving as the
Finance Minister of India.

Answer: (C)

Apart from the directives included in Part-IV of the
constitution, there are some other directives that are
contained in other parts of the constitution-

First, is “Claims of SCs and STs to Services”, i.e.,
Article 335 in Part XVI. Second, “Instruction in mother
tongue”, i.e., article 350- A in part XVII and third, is
Development of the Hindi Language i.e. Article 351 in
part XVII.

Article 338 belongs to “National Commission for
SC/ST”.

Answer: (C)

The genetic material of a body is found in DNA. This
DNA is situated in chromosomes which are located
inside nucleus of a cell. There are 23 pairs of
chromosome. The last pair is known as sex
chromosome.

Answer: (A)

The SR Bommai case, 1994, dealt with Article 356
and mentioned few restrictions on its usage.
* The verdict concluded that the power of the
President to dismiss a State government is not
absolute.

» The verdict said the President should exercise the
power only after his proclamation (imposing his/her
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rule) is approved by both Houses of Parliament.
 Till then, the Court said, the President can only
suspend the Legislative Assembly by suspending the
provisions of the Constitution relating to the
Legislative Assembly.

» The dissolution of the Legislative Assembly is not a
matter of course.

* It should be resorted to only where it is found
necessary for achieving the purposes of the
Proclamation.

Answer: (C)

An aquarium is an artificial ecosystem made by man.
An ecosystem is said to be complete if it possesses
all the biological and physical components that are
vital for the survival of fish.

Answer: (D)

Apart from the above factors, the world's largest
rivers form their delta in the equatorial region, which
reduces the salinity there. In addition, clean water
brought from the polar region by ocean currents is
also helpful.

Answer: (C)

The Parliament of India (or Parliament) is the
supreme body of the Legislature of India. This is a
bicameral system. The Indian Parliament consists of
the President and two Houses - Lok Sabha (House of
the People) and Rajya Sabha (Council of States). The
President has the power to summon or adjourn either
House of Parliament or dissolve the Lok Sabha. The
Parliament of India operates in the 'Parliament House'
which is located in New Delhi. The Rajya Sabha is
called the upper house and the Lok Sabha is called
the lower house. But it is only said in practice
because nowhere in the Indian constitution has the
term lower house been used for the Lok Sabha and
the upper house for the Rajya Sabha.

The Lok Sabha consists of representatives elected by
the people of the nation. Rajya Sabha is a permanent
house. The members of the Rajya Sabha are
elected/nominated for 6 years. 1/3 of whose members
retire every 2 years.

Answer: (B)

* The Money Bill is defined in Article 110 of the
Constitution of India.

* The article contains detailed definition of the money
bill.

* It also states that a Bill shall not be deemed to be a
Money Bill in case of imposition of fines or penalties,
or fees for licences or or taxes imposed by local
authority for local purposes.

» The article states that the decision of Lok sabha
speaker decision is final in deciding whether a bill is
money bill or not.

Answer: (B)

‘World Cancer Day' is celebrated every year on 04
February. The purpose of celebrating this day is to
reduce awareness and stigma about the disease.
'World Pulses Day' is celebrated every year on 10
February. The purpose of celebrating this day is to
boost the production of pulses. 2016 was first
declared as the International Year of Pulses.

‘World Leprosy Day' is celebrated every year on 30
January. The purpose of celebrating this day is to
spread awareness and prevention of leprosy among
the people.

On 28 February 1928, the famous physicist of the
country, Sir Chandra Shekhar Venkat Raman,
discovered the 'Raman effect' for which he was
awarded the Nobel Prize in the year 1930. On this
occasion, this year is celebrated as National Science
Day every year since February 28, 1986.

Answer: (C)

The highest airport in India is Leh airport.
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Itis 10682 ft (3,256 m) above the mean sea level.

The airport is named after 19" monk Kushok Bakula
Rinpoche, whose Spituk Monastery is in direct
vicinity to the airfield.

Answer: (B)

James Andrew Ramsay, later known as Lord
Dalhousie, served as Governor-General of India from
1848 to 1856. During his reign, in 1853, the first
railway line between Bombay and Thane was opened
and in the same year, telegraph service was started
between Calcutta and Agra. Including all these
reforms, the Public works department was also set
up. Due to the above reforms, Lord Dalhousie has
been regarded as the maker of modern India.
Answer: (C)

The National Human Rights Commission (NHRC) and
State Human Rights Commissions (SHRCs) are
statutory, non-constitutional bodies, established in
1993 under an act of Parliament, i.e., the Protection
of Human Rights Act, 1993. A constitutional body is a
body that is provided in the Indian Constitution.
Answer: (B)

e The Eleventh Schedule of Indian Constitution
contains the provisions on Panchayat Raj Institutions.
e This Schedule of Indian Constitution was added in
1992 by the 73rd Constitution Amendment Act.

e Some important subjects under this are
Panchayat's powers, rural development, poverty
alleviation, market, roads and drinking water, etc.
Answer: (A)

Vitamin B12 also calledcobalamin, is a water-
soluble vitamin with a key role in the normal
functioning of the brain and nervous system, and for
the formation of blood. It is one of the eight B
vitamins. It is normally involved in the metabolism of
every cell of the human body, especially affecting
DNA synthesis and regulation, but also fatty acid
metabolism and amino acid metabolism. Neither
fungi, plants, nor animals (including humans) are
capable of producing vitamin Bi2. Only bacteria and
archaea have the enzymes required for its synthesis,
although many foods are a natural source of
Biz2because of bacterial symbiosis. The vitamin is the
largest and most structurally complicated vitamin and
can be produced industrially only through bacterial
fermentation-synthesis.

Answer: (C)

Australian Open 21 2021

Male Singles

Winner - Novak Djokovic (Serbia)

Runner-up - Daniel Medvedev (Russia)

Female Singles

Winner - Naomi Osaka (Japan)

Runner-up - Jennifer Brady

French Open 2020

Male singles

Winner - Rafael Nadal (Spain)

Runner-up - Novak Djokovic (Serbia)

US Open 2020

Male Singles

Winner - Dominic Thiem (Australia)

Runner-up - Alexander Zverev (Germany)

Answer: (C)

* NITI Aayog launched the first-of-its-kind Online
Dispute resolution (ODR) handbook in India on April
9, 2021.

* ODR is the resolution of disputes outside courts,
particularly of small and medium-value cases, using
digital technology and techniques of alternate dispute
resolution (ADR), such as negotiation, mediation, and
arbitration.

Answer: (B)
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The magnetosphere of Jupiter is the largest
planetary magnetosphere in the Solar system.
Jupiter’'s magnetosphere is stronger than Earth’s
by an order of magnitude and its magnetic moment
is approximately 18,000 times larger.

Answer: (B)

Dr Krithi K Karanth has been chosen as the first
Indian and Asian woman for the 2021 ‘WILD
Innovator Award'.

This award given by the 'WILD ELEMENTS
Foundation'.

She is the Chief Conservation Scientist at Bengaluru-
based Centre for Wildlife Studies (CWS).

In 2011 Krithi K Karanth was honoured as National
Geographic Society's 10,000th grantee.

She was selected as National Geographic Emerging
Explorer in 2012.

She was selected as one of India's Power Women by
Femina in 2012.

Answer: (C)

* The printing of budget

documents starts with a customary ‘Halwa
Ceremony’, during which the sweet dish is prepared
and served to the finance ministry officers and
support staff involved.

* The ceremony marks the start of the lock-in period
to maintain budget secrecy, which means the staff
remains isolated and stay in the North Block office
until the Budget is presented in parliament.

Answer: (B)

National Waterway 5 connects Odisha to West
Bengal using the stretch on Brahmani River, East
Coast Canal, Matai river and Mahanadi River Delta.
Answer: (C)

Article 321 of the constitution mentions that any act
made by the Parliament or State Legislature may
provide for additional functions to be performed by
Union Public Service Commission or State Public
Service Commission as respect to the service of the
Union or the State.

Answer: (B)

Lt Gen Rajeev Chaudhary has been appointed as the
27th Director General of the Border Roads
Organisation (BRO). He started his duty with effect
from 1st December 2020. He succeeds Lt Gen Harpal
Singh who has been now appointed as the new
Engineer-in-Chief of the Indian Army. Hence, option B
is correct.

Answer: (D)

World Bank (WB) has released its latest report on
“South Asia Economic Focus”.

Answer: (D)

The Fundamental Rights can be suspended during an
emergency by the President. The President of India is
vested with special powers during the state of
emergency in India. The President becomes the real
and overall head of the Indian state. This reflects the
unitary feature of Indian State.

Article 359 of the Constitution authorizes the
President of India to suspend the right to move any
court for the enforcement of Fundamental Rights
during National Emergency (except Article 20 and
Article 21).

Answer: (A)

Lord Cornwallis is known for permanent revenue
settlement of Bengal in 1793.1t was an
agreement between the British East India Company
and the Landlords of Bengal to pay a fixed revenue to
the English East India Company and the landlords
would in turn become the owners of the land having
hereditary rights and rights to collect revenue from the
tenants.

Answer: (B)
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The 19" edition of the Indian and French Navy
bilateral exercise VARUNA-2021 carried out in the
Arabian Sea.

This bilateral exercise was conducted from 25 to 27
April 2021.

In this exercise, the Indian navy was led by the Flag
Officer Commanding Western Fleet Rear Admiral
Ajay Kochhar.

The French navy was led by the Commander Task
Force 473, Rear Admiral Marc Aussedat.

This bilateral naval exercise was initiated in 1983 and
it was christened as 'Varuna' in 2001.

Answer: (C)

* Article 159 of the Indian Constitution mention the
Oath or affirmation the Governor has to make before
entering his office.

* The oath of office to the Governor is administered by
the Chief Justice of the concerned state High Court.
» Every person discharging the functions of the
Governor also undertakes the similar oath or
affirmation

Answer: (D)

Saline and alkaline soils have high pH, i.e., more than
8.5. The pH value of black soils is 7.5 to 8.5, for Arid
or desert soils is around 7.0, for laterite soils is 5.0 to
6.0 and for red soils is 6.0 to 7.5.

Answer: (A)

The Environment protection act, passed in 1986, was
passed after the Bhopal Gas tragedy, that happened
on the night of 2 -3 December. It was one of the
most horrifying man-made disasters of recent time.
MIC or methyl Isocyanide gas was spread which
killed thousands of people and made lakhs of them
visually/ physically impaired.

Answer: (D)

Kasturirangan Committee is related to the National
Education Policy. Except option D, rest were set up to
recommend on centre-state relations.

Sarkaria Commission was set up in 1983 by the
central government of India. The Sarkaria
Commission's charter was to examine the central-
state relationship on various portfolios and suggest
changes within the framework of the Constitution of
India.

In the year 1970, the Rajamannar Committee was
constituted by the Tamil Nadu government to
consider the central and state relations.

The Government of India constituted a Commission
on Centre-State Relations under the chairmanship of
Justice Madan Mohan Punchhi, former Chief Justice
of India on 27th April 2007 to look into the new issues
of Centre-State relations keeping in view the changes
that have taken place in the polity and economy of
India since the Sarkaria Commission had last looked
at the issue of Centre-State relations over two
decades ago.

Answer: (A)

* Indian Constitution provides Single Citizenship.

» The concept of Single Citizenship is borrowed from
Britain Constitution.

 Part Il of Indian Constitution deals with citizenship
from Article 5 to 11.

» There are four ways in which Indian citizenship can
be acquired: birth, descent, registration and
naturalisation.

Answer: (A)

Kami Rita scaled Mount Everest 25th time in May
2021.

He first scaled Mount Everest in 1994 at the age of 24
years.

He also scaled other famous peaks like K-2, Cho-
Oyu, Manaslu, Annapurna and Lhotse.
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Shivangi Pathak is an Indian mountaineer. She
became India's youngest person to climb Mount
Everest.

Keval Kakka became the first Indian to climb two
8000m peaks of Mount Everest and Mount Lhotse in
6 days.

Anshu Jamsenpa is the first woman in the world to
scale the summit of Mount Everest twice in a season.
Answer: (A)

« 22 Parts, 395 Articles and 8 Schedules were there in
the original Indian Constitution.

* The Indian constitution declares India a sovereign,
secular, socialist, and democratic republic, assures its
citizens justice, equality and liberty, and endeavors to
promote fraternity.

» The Constitution was adopted by the Constituent
Assembly of India on 26 November 1949.

» The Constitution of India became effective on 26
January 1950.

* During the Emergency, The words "socialist" and
“secular” were added to the preamble in 1976 by
42 Constitutional amendment Act.

Answer: (B)

Angutara Nikaya which translates to “Collection
of Gradual Discourses" is the fourth of the five
divisions of the Sutta Pitaka. Anguttara Nikaya
contains suttas spoken by Buddha in numerical
order. It gives a list of 16 Mahajanapadas in the
early 6th century BC.

Sutta Pitaka contains over 10 thousand sutras
related to Buddha.It also tells about the first
Buddhist council at Rajgir around 400 B.C., under the
patronage of king Ajatasatru presided by monk
Mahakasyapa.

Khandhaka is the second book of Vinay Pitaka. It
contains regulations on the course of life in the
monasteries. It has two volumes, viz., Mahavagga
and Cullavagga. It also gives a narration of Buddha’s
Awakening.

Abhidhamma Pitaka is the last of the
Tripitaka. Abhidhamma is a compilation of the
Buddha's teachings and deals with ethics,
psychology, theories of knowledge, without reference
to individuals and events. It is divided into seven

books.
Mathematics

Answer: (A)

Let the total journey be of 1200km[Multiple of LCM of
3 and 4]

Then journey covered at 80km/hr=1200/3=400km
Journey covered at 50km/hr= 1200/4=300km
Remaining journey at 100 km/hr =1200-400-
300=500km

Then time taken to cover 400 km=400/80=5 hour
Time taken to cover 300 km = 300/50=6 hour
Time taken to cover 500km=500/100=5 hour
So, average speed = Total disance / Total time =
1200/(5+6+5) = 75 km/hr

Answer: (C)

Let x = /7 /7 N7 ...

On squaring both sides, we have: x2=7x
Hence x =7
Now, 7 = (343)""
1=3y-3
y =4/3
Answer: (C)
Let us suppose that the number be x and 4x.
Then
x X 4x =84 %21
bit.ly/TesMusPrime
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,  84x21
= x =21

Hence larger number be 4x =4 x 21 = 84.
Answer: (A)

Sum borrowed = Present worth of Rs. 17640 due 1
yearhence + present worth of Rs.17640 due 2 years
hence

17640 17640
S g + 5 2
(1 + 100) (1 + 100)
20 20 20
=Rs- (17640 X ﬁ+ 17640 X — x—)

21 21
= Rs. (16800 + 16000)
Rs. 32800
Answer: (D)
60 45
Too X =N =150**+ M
On solving x = 7y

andy = %XX

YZMXW
100

7
— S 1007
21%ofk—100x —=3
Answer: (A)

I9X6+24+8+-20f5-30+40f4

Applying BODMAS rule —
=9X6+244+8+10—-30+16+27%x5+9

=9x 6 + 8 30+27><5

S 7724710 16 9

= 2 + 8 30 + 15

4710 1

_9+ 8 +1s 30 647

410 16 40

Answer: (A)

From multiplication rule, Number of ways = 14 x 12 =
168 ways

Answer: (C)

Let B’s income be 100x.
Then A’s income = 100x — (100x) x 60%
= 100x — 60x = 40x

Required percentage

100x—40. 60.
= T 100 = 22 x 100
40x 40x

= 150%
Answer: (A)

Number of students like football = n(A) = 16
Number of students like volley ball = n(B) = 18
Total students = n(AUB) = 30
N(AUB) = n(A)+n(B)-n(ANB)
30=16+18- n(ANB)
n(ANB)=4.
Answer: (C)
Selling price =21
Let the loss percentage be x and cost price
=X
Then
X
X — 100 Xx =21
X2-100x+2100=0
X2-70x-30x-2100=0
X=30 and 70
So cost price off book is 30 or 70
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Answer: (B)

Let the CP = Rs. 100

MP = Rs. 160

SP =160 x (75/100) = Rs. 120

Profit = Rs. 20

% profit = 20%.

Answer: (C)

Short Trick:

Mixture A : B=4:1

After 10l out, A :B =4:1

Replaced by B, A : B=2:3

=4:6

Here 5 ratio equals to 10l > 1 — 2

and, (4+6)*2 =20

Since initial and final quantities are same

So intial Quantity = 20l

A initially in mixture = 4/5 *20 = 16l

Alternate Method:

Let mixture of two liquid contains A liter of first liquid
and B Itr of second liquid.

A:B=4:1

A

A 4 A

1773

A+B =V

Let V be the total volume of Jar

Then A=4/5V; B=1/5V

If 10 litre of the mixture is replaced with liquid B, the
ratio becomes 2 : 3

Hence portion of A and B in 10 Itr of mixture =
(4/5)x10 and (1/5)x10

=A’s portion = 8 Itr

=B’s portion = 2 Itr

Newer portions of A and B are (A — 8) Itr and (B — 2
+10)=(B+8) Itr

Therefore (A—-8) : (B+8)=2:3

A-8 2 A\A-8 2

———(-.' = ) =-3(A4-198)

B+8 3 4%+8 3

A 5
2( +8>3A——=16+24§A

2

= 40A = 16ltr
Answer: (C)
Math + Science + English = 72x3 = 216
Science + English + History = 64x3 = 192
Subtracting second from first we get,
Math - History = 216 - 192 = 24
M=24+H
M =24 +56 =80
Answer: (A)
Let the initial speed of the car = S km/hr
Speed after every hour is increased by 2 km/hr, so
the distance travelled after every hour will be-
S km + (S+2)km + (S + 4)km +.......... (S+14 )km
Total distance travelled = 8S + 56km = 728 km
8S =728 -56 =672 km
S = 672/8 = 84km/hr
Answer: (D)
2A=3B=5C
LCM of 2,3,5is 30
Then A:B:C

_ 30 30 30 - 15:10:6
T 2'3'5
Answer: (D)
Since absolute ratio of the numbers and HCF of the
numbers are given, the numbers are 8 x 7 = 56 and 8
x 13 =104.
Now, LCM of 56 and 104 = 56 x 13 = 728
Alternate:
Since absolute ratio of the numbers and HCF of the
numbers are given, the LCM of the numbers is 7 x 13
x 8=728
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Answer: (D)

(Ram a + Ravi) x 24 = (Rama + Ravi)

x 15+ Ravi x 16

Rama: Ravi=7:9

Let number of days taken by Ravi be x.

16 X24=9X%Xx

x = % days

Answer: (B)

The ratio of A's and B’s efficiency = 3 : 2
Let A does 3 units/day and B does 2 units/day.

Given, A can complete the work in 10 days.
So, total work = 10x3 = 30 units.

Time taken by B = total work 10><3

B' sefficiency

Answer: (A)
AT.Q.
16 CP=12SP
= CP/SP =12/16 = 3/4
Profit on 3 articles = (4 — 3) = 1 unit
Profit = 1/3 x 100 = 33.33%
= 12D = 6P
= D/IP =1/2
= D/P =0.5/1
Since the profit is double that of discount,
CP SP MP

- -
3 1 05 45
Discount % = (0.5/4.5) x 100 = 11.11%
Difference = 33.33 — 11.11 = 22.22%.

=15 days

Answer: (D)

Income  Expenditure  Saving
1000 750 250
122% l l
1200 950 250

Required % = 207750 100 = 222

750 75

S 262

3

Answer: (D)

The expression in the question can be written as
follows:

1 1
\/22+(\/§)2—2x2\/§ -3

Rationalizing

We get,

2 +y/3=2+1.73

=3.73

Answer: (A)

Ratio of given number x and y,
X:y=4:5.

HCF = 16

then the numbers are,
x=4x16=64andy =5 x 16 = 80.
Sum of the numbers = 64 + 80 = 144,
Answer: (C)

Ms. Revathi borrowed Rs. 600 at 6% per annum
simple interest.

Simple Interest =

Principal x Rate x Tine

00
Simple Interest = S00X6x% — Rs.144

Required Amount = Principal + Simple Interest = Rs.
600 + Rs. 144 = Rs. 744

Answer: (D)

The problem will be solved, if either one of them
solves the question or both of them solve the
guestion. So required probability will be

3 5+2 2 3_2_§§2
5 3575 37 4++5
_MZE
15 15
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Answer: (C)

Given,x+y+z=10

= (X +y+2)2=10?

= X2 +y2+ 22+ 2(xy +yz + zx) = 100

= x2+y2+22=100-2x15=70

Since, X3+ Y3+ 28— 3xyz = (X +y + z) (X2 + y? + 22—
Xy — Yz — zZX)

=10 x (70 — 15) = 550

Answer: (D)

Total number of outcomes = 23 = 8

Exactly two heads = 3(HHT,HTH,THH)

Required probability = 3/8

Hence, the answer is option D.

Answer: (C)

Symmetric Difference of two sets:

Let A and B be two non-empty sets. Then
AAB=(A-B)uU(B-A), is called as the symmetric
difference of A and B.

The shaded portion in the Venn diagram represents
the symmetric difference of A and B:

A B
We know that the set representing the shaded portion
in the venn diagram is the symmetric difference of A
and B.
Given: A={1,2,3,4,5,6}and B={1, 3,5,7,9, 11}
A-B={2,4,6landB-A={7,9, 11}
= AAB=(A-B)u(B-A)={2,4,6,7,9,11}
Hence, option C is correct.
Answer: (B)

V45-v54 V9x5-V9x6 3V5-3V6

V20— V24 VAX5-vV4x6 2V5-2V6
3W5-v6) 3 . 1
2(f5-v6) 2 2

Answer: (D)

Let the marked price of the product be %100.

Then, the price after all the three successive

discounts

100 x (100-8)% x (100-15)% x (100-12)%

=100 x 92% x 85% x 88%

=100 x 0.92 x 0.85 x 0.88 = %68.816

Discount = 100 — 68.816 = ¥31.184

Discount % = (31.184/100) x 100% = 31.184%

Answer: (C)

Radius of small spherical balls = 0.7 cm

Diameter of cylindrical container =7 cm

Radius of cylindrical container = 7/2 cm

Let number of spherical balls that dropped into a

cylindrical container =k

Volume of kspherical balls that are dropped =

Volume of cylindrical container up to 5.6 cm

=>kx%xnx0.7><0.7><0.7=nx§x§x5.6
= k=150

Answer: (D)
Let Xty = Z nd y+z = ﬂ
V4 2k x

k
Since, z =2k and x =4k, so y=3k
x+z 4k+2k

3k

L=
_ 6k 5
=3 =

Hence, option D is the correct answer.

Answer: (B)
Here given that

bit.ly/TesMusPrime
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113.

114.

115.

116.

117.

118.

119.

o2)=>

then the value of :
3

1 5, 1 1
<a+—> =a +—3+3(a+—)

a a a
a3+E=(5)3—3x5=125—15
=110
Answer: (B)

Given: Wrong average of 30 results = 30
~wrong sum = 50 x 30

= 1500

According to question,

Correct sum=1500 — 33 + 73
=1540
1540

Correct Average = P

=30.8

Answer: (C)

Let income of C =100

Then the income of B =100 + 24% = 124
Income of A =40 % of 124 = 49.6

. 100—49.6
Hence required percentage = ———

49.6
x 100 = 101.6%
Answer: (D)

No. of sides of a regular polygon
_ Sum of internal angles +360°

- 180°

~ 1620° +360° 1980° Y1
o 180° 180°

Answer: (B)

Total Players = 300

No. of player(Cricket) = 22% of 300
=66

No. of Players(Basketball) = 9% of 300
=27

"" Difference = 66-27
= 39 players
Answer: (A)
Total no. of players = 300
No. of Hockey & Football player =(21% + 17%) of 300
=114
If 21 hockey players were added
Then total player = 114+21 = 135
No. of Tennis & Golf player = (8%+23%) of 300
=93
If 9 players will leave =93-9
Remaining player= 84
Ratio = 135:84
=45: 28
Answer: (C)
Total No. of players = 300
No. of basketball player =9% of 300
=27
No. of Tennis player = 23% of 300
=69
No. of player added = 36 (in basketball team)
Then total player of B.B = 27+36 = 63
So, the difference is = 69-63 = 6 players
Answer: (D)
r n
Amount = P (1 +1To)
When interest is compounded half yearly :
Then rate = 20/2 = 10%
Time = 2x 2 = 4 years

4
A=5000 (1+0)
A 100
= n
= 5000 (12)
=Rs 7320.5
Compound interest = Amount — Principal

=7320.5 - 5000
=Rs 2320.5
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Answer: (C)

o D E
¢

8

Givenis AE = 3BD

AE/BD = 8/3

We know that AACE & A BDC are similar triangle
ASince BD//AE)

Area of ABDC/Area of AACE=Aside

BD)?/Aside AE)?

= A3/8)?

=9:64

Mental Aptitude Test

Answer: (B)

As, food of the house in prepared in the kitchen.
Similarly, food of the plant is prepared in the leaves
(by photosynthesis process)

Hence, option B is the correct answer.

Answer: (A)

Using the clauses , V is at the bottom. There are two
phones between M and V. The number of phones
above T is same as the number of phones below V. R
is just above H.

x| -

<

So, M and T are above R.
Answer: (D)
Option D can be drawn as:

P(-) —R(+*) ———(Q)

Therefore, this figure suggests that P is sister of Q.
So, the correct answer is option D.

Answer: (B)

Today is Friday + 2, i.e., Sunday.

Tomorrow will be Monday. The Day after tomorrow
will be Tuesday and two days after Tuesday will be
Thursday.

Hence, option (B) is the correct response.

Answer: (D)

Total number of days from 4th July to 15th August
= (27 + 15) = 42 Days

Number of extra days = 42/7 =0

(remainder)

Thus, day on 15"Aug will be (Tuesday +0)

= Tuesday.

Hence, option D is the correct answer.

Answer: (C)

=
TR,
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After observation, it is clear that, answer figure (C) will
complete the question figure after placing it at the
guestion marked place.

Hence, option C is the correct answer.

Answer: (B)

The logic is —

(6-53=13=1-(9-5)3=43
=64-(7—-4)3=33=27

Therefore,

(13-8)3 =53 =125

Hence, option B is the correct answer.

Answer: (A)

According to the given information,

B's wife husband is B himself. So, A is the brother of
B. Thus, C and D are sisters of both B and A. This
clearly shows that A is the brother of C.

Hence, option (A) is the correct response.

Answer: (B)

Minimum Possible diagram is-
students

observers

Conclusions:

I. Some students are observers.(it does not follow
because third statement given in the question does
not imply that some students are observers.)

Il. Some observers are not students.(it does not follow
because many students are not observers.)

Ill. Some observers are listeners.(it follows because
Some listeners are observers.)

So, Only conclusion Il follows.

Hence, option B is the correct answer.

Answer: (A)

Pattern is-

+2 -3 _ 45 -7 _ +11 _-13
G—-]I—F—>K—>D—>0—8B

Hence, option A is the correct answer.

Answer: (A)
The series will be,
8 +8
I A
+20 +28 +36 —1 +44 +52
35 | 63 | 122 | 143 I 195
+8 +8
Hence, Option A is the correct answer.
Answer: (A)

Crash landing without heeding expert opinion is
dangerous. Pilot should look for a safe landing site
and only in case of emergency and when no other
options are possible, crash landing should be done
and pilot should always listen to air traffic controls
advice and alerts.

Answer: (C)

Logic is:

Original sequence: 4, 10, 20, 34, 52, 74, 100, 130
First differences: 6, 10, 14, 18, 22, 26, 30

Second differences: 4, 4,4, 4,4, 4
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Missing number=52+18+4=74

Hence, option C is the correct answer.

Answer: (C)

Statement:

1. The total of the ages of Ratan, Imran and Nadeem
be 27. (its alone sufficient.)

Let the present age of Nadeem be x

So, Imran’s present age = 2x

And Ratan’s present age = 2+2x

According to the question,

X+2X+2+2x = 27

=5x+2 =27

=5x=25

=x=5

So, Imran’s age = 2x5 = 10 years

Statement:

2. Ratan is older than Nadeem. (its alone not
sufficient)

so, Statement 1 alone is sufficient.

Answer: (B)

From I:

It alone can not answer the question as there is no
sufficient data present.

From II:

It also alone can not answer the question as there is
no sufficient data present.

From both | and II:

Let Age of guna = Age of vinay = Age of Keshav = x
years

We know Arjun is as old as Vinay and Keshav
together.

Now,

2X+X+x=32

So,x=8

Age of Guna = 8 years

So, Both the statements together are needed.
Answer: (B)

All the alphabets of the word are replaced by their
opposite letter according to the alphabetical series
and then arranged in the following pattern.

M O B I L E

Y LNV OR

Clearly, MOBILE will be coded as YLNVOR.
Answer: (D)

Here the question figure is correctly embedded in the
answer figure as shown below:

Hence, option D is the correct answer.

Answer: (A)

Letter |[P|S [Y|C|H|O|A |N|L]|E

Code |! @ |[#|$ | % |™ |&|* |<|>

CANALS will be coded as $&*&< @ .
bit.ly/TesMusPrime 10|Page

139.

140.

Answer: (B)

After observing the given question figure, it is clear
that option figure B will complete the given question
figure.

Answer: (C)

When the paper is unfolded it will appear as:

Step 1:

Step 3:

O o0
o
O 0O

Hence, option C is the correct answer.

Direction (141-143): The logic of the arrangement is as

141.
142.
143.
144.

145.

follows:

Each letter in each word is replaced by the next letter
that comes in the English alphabet series for
example: A is replaced by B, H is replaced by | and
so on.

Each number given in the input is replaced by its
twice and then one is added in that for example
54 is replaced by= 54+54+1=109. All numbers are
arranged in this fashion. So the arrangement of the
given input will be as follows:

Input- bvgr ktwq 64 96 18 36 11 rexv cgby asdf
Step I: sfyw 193 bvgr ktwq 64 18 36 11 cgby asdf
Step II: luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf
Step lll: dhcz 73 luxr 129 sfyw 193 bvgr 18 11 asdf
Step IV: cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf
Step V: bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193
Answer: (A)

Answer: (D)

Answer: (D)

Answer: (A)

Contagious disease is spread from one person to
another by direct contact. Typhoid is a contagious
disease is not deductible from the given statements.
Therefore, only conclusion | is true.

Hence, option A is correct.

Answer: (C)

The position values of the alphabets are used where
A=1, B=2, C=3 and the reverse position value are
also used where Z=1, Y=2, X=3 and so on.
AZ, BY, CX etc form a complementary pair. Such
pairs are used in the above series.

BY-DW

HS-JQ

Hence, option C is the correct answer.
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Answer: (A)

From statement I:

D’s weight is 40 kg

C’s weight is (40+10)= 50 kg

B’s weight is (50+20) =70 kg

A’s weight is (70-18)= 52kg

Their average weight is w

=53 kg

Thus, statement | is sufficient to question the given
question and statement Il is not sufficient to answer
the given question.

Hence, option A is the correct answer.

Answer: (B)

After carefully observing the figures given in the
question, it is very clear that the question figure given
is embedded in the answer figure(B). It is shown as
given below:

Answer: (D)
After carefully observing the figures given in the
question, it is very clear that the question figure given
is embedded in the answer figure(D). It is shown as
given below:

Answer: (C)
The reflection of the question image will be like —

) i‘r{}

Y
= =

Mirror
Answer: (A)
+6 +6 +6 +6
‘ v ¥ '
AZ GT MM SH YB
[ttt ¢
6 -6 -6 -6
Hence, option A is correct.
Answer: (B)

After observing the question figure, figure (b) will
complete the figure.

Hence, option B is correct.
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152. Answer: (C)
AN SW ER MY SO RE
P4 A " XX
"|~3|L "-|‘~5| ﬁ YM OS ER
|
NBE WT RF tlﬂv.; g*lr ESl
153. Answer: (A)
@ pen
Sharpener

Conclusions:
I. Some pens are markers (It follows the statement)
II. No marker is pencil (It follows the statement)
Ill. No marker is sharpener (It does not follow the
statement).
Only Conclusions | and I follow
Hence, option A is the correct answer.
Answer (154-156):
1) Six persons stayed between M and G.
2) R stayed on odd number floor but not on third floor.
3) H stayed immediate below R.
4) More than two people stayed between H and G.

CASE 1

FLOOR PERSONS
8 M

7 R

6 H

5

4

3

2

1

CASE 2

FLOOR PERSONS
8 G

7

6

5 R

4 H

3

2

1 M

5) P stayed immediate above Q but below N.
6) O stayed below R.
(Here, case 2 will be eliminated and we will continue

with case 1)

7) Q did not stay immediate above G.
FLOOR PERSONS
8 M
7 R
6 H
5 N
4 P
3 Q
2 @)

1 G
154. Answer: (D)

Therefore, option D is the correct answer.
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Answer: (C)

Therefore, option C is the correct answer.

Answer: (D)

Therefore, option D is the correct answer.

Answer: (B)

Only a proper justice system can establish peace in
the society. Thus only statement Il is implicit.

Hence, option B is the correct answer.

Answer: (B)

According to the statement, it is possible to pass the
examination given that you work hard.

Thus, only assumption Il is implicit.

Hence, option B is the correct answer.

Answer: (D)

As the statement B says 'likewise', it implies that the
phenomenon by which leaves change colour with
season is a law of the Universe. Thus, the conclusion
| follows.

Il does not follow as the statements do not point out
similarities between humans and leaves; they simply
suggest something that humans must learn from
leaves.

Hence, option D is the correct answer.

Answer: (B)

This is the original figure according to the question.

A 6 B
Now as per the conditions given, we shall get the
following figure.

—— 6 C 6 —

A 6 B
The distance between A and B is 0 meters.

bit.ly/TesMusPrime

12|Page

SLIDES
(SUBJECT WISE)

mr:zn@l!mmm'
:

DAIL

Daily Static GK One -Liners

153 Different Slides Brand Promotion  __ Highly Engaging

Price: ? 5,999/~ for 6 Month (IO slides)

DNA DAILY NEWS
“LANALYSIS

MENTORSHIP for IAS
ENERAL STUDIES & INTERVIEW
. s T © resenien

=10 Important News Brand Promotion _Mobile Screen Friendly

Price: 2 8,499/~ for 6 Month

ET I?A.I}«'TDETQIAL KIT

Modern
roach o

& 4 Books

(7} 7,250+ Questions

Price: 211,999/- Per Book
Web :- https://tesmus.com

1,400+ Poges


http://bit.ly/TesMusPrime
https://tesmus.com/

TEST ID - USI - 887702527

- f  a—— ‘,‘,‘ S 4
i i
v‘ - = ! 7”“, ‘.\b,, e . >>"'.
(At - B
4 I |
o /:"‘ (T >

...keeps you ahead

UP_SI_2023

TEST FORM NUMBER IfHaH 3iF  : 400

INSTRUCTIONS TO CANDIDATE ol U : 160
fuiRa g : 120 fAase

0¥ D & B | Ul TR Qe Bl &I | TS |
1) 39 gRA®T # 160 U B, W1 & @1 IR 9wl 7 e g |

- (1) @ Hindi Language (40 y=9)
AT- (I1) @ Law/ Constitution & General Knowledge (40 y=9)
AWT- (1) : Mathematics (40 y=9)
AWT- (V1) : Mental Aptitude Test (40 y=9)

(2) 9 T Ifard € 9T Hed dRIER 3d g |

(3) Ul BT FA PRAT YRR B_l A el AMUDI 9 JRABI DI Slid Bl @MY 3R I GFARAd H=1 =12y fd s ot
TS IURT B 3R B IS HH AT 93l 83T el © | 3R MMUDl 59 RIS § dIs aI fiyerar &, ar amua! gia 9
ST BT |

(4) 5 e § THRHS SipT TR B |

(5) 3MUBT FRIeTd ERT STR GRADT AT | & ST | JMIBT T DI & BT IR™ B A U8 30AT M, A AeR,
X AW /N R /IReT BT A ITR-GRADT W AEIHIGdD QI BIAT 8117 | DT SR—gRddr # FeiRa wem
UR YT BRIER 4T BRAT BRI | B a2l &l 9 ORE | Ulel (Al Sim anfegy, foRae! 9 R WR 3MUd] ITR—YRD]
BT JedIdh &1 [HAT ST R MU IR 3 AT S |

(6) TR bad URTSA AT =P /Y I U9 gRT I— JRADT TRIATS T =T & AT el Bl R a8 <l XD
fe—gTIT ST =Ry |

(7) OMR SR gRA®T &I Tab 729 gIRT S SIRATT | Ife {6l Reafcr # Sueter SMaR, e U H & T e
W 7T YR RN, Al JAAGDH Bl ATda R DR (AT STRATT |

8) g o rgwfd fem & arg & BT WRIe Fel BIS FhT ¢ |

(9) SWRh A ¥ Bl I e &1 agues a3 H Awd SFITIR &1 S dRiaR! /AT & oy STRarR |\t off
AP T |

(10) I STl 81 W AN Sfeal SR AT | Tl & SR < | B FdTdl Hiod 8 Adhd 2 AR IR A 8 Fhad
21 fed 9 yvd ) Surer 999 qE) f9d |

(11) ANEd B AR IRRET HIR IUSI, Wl H& /FHR H R de A Ufefed &1 d18 A 3ded 3ruw Aege &1 a1
frd IR AR SUBRUT BT §¢ BRb Ul YT YA Aol g AhdT | I8 BT Sooitq BT R 3fded & [dvg Sfd
HRIArET P SIRAN 3R SWaT 3mded T AR fovar S dadr 2

(12) STR—UF WR DI 6 B el &A1 ST @y |
(13) ®1E W SFNGIR T¥elT QT B | UgS UNIE $hel el Bl dHhd ¢ |

g TP YD Ig TAET JRABT Wi D 9 H&l WY 99 ad 9 @il

App :- http://bit.ly/TesMusPrime 1|Page Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

UP_SI_2023 TEST ID - USI - 887702527

10.

App :- htt

U 76T o fob & TY-TY XS | AR T 9T &
(A) TE ITD (B) SB[ATdD
(C) 3THTaTaD (D)

13U 70 a1 & forT Ugerd 81 aret we fdehed &1 g
Ig Hid S dhTd Hidal H H HI Bl

(A) gobfd (B) TETHII

(©) ITHH (D) 3MTYHTA

9 & ¥ 1731 Tog ST RIS -
(A) IRF (B) fagwr
(C) WU (D) I5H

45 P fg<l A PHEA 37
(A) T (B) UTE e
(C) gaUd (D) i

(5-9) fufafRaa e & muR W UMl & IW
difor

e PP AfGd ARGl & UG DI SR 30 814 & Ul
N, 99 dF S &1 T§ ¥U HOH, SRATHIAS 3R
3 &1 @ 31 §H 39 ! 39 UIRIfAH I
T B B DI HRA! MMeT | ST AP WG -
Hrg, 3o fawrar 3R rorifae arm=Igt & firet fea
ST 91fRT| ST dp BHAR S BT T g, Tieis 3
370 oA TOY fhar 3R IT0T IRT IUy ST ot
HIGT TR 3YTRA 8T S0 AR sifgar &1 o §
Tafey fUd JaPbT I, b HAUI| Igi- YT
IRI Saq Faieg ¥ forw guftfd &2 fean 3 sraw faa
Y| I fHddt off UBR & FerR a1 Ryiddr &1 am@n
T faran| IR Piyde Rl & faaRt & g1 iR U
AT & a1y et Y 39T AT TRY 8T fhan| 33 UeR
o1 I 3 b TR H faordt 81 Wb g1 o e
BT Sitad Al T TSRl &1 71 g1 HiFadl & g I8
TR B 3R I9F Hiaw F AT T IRom|

99 O g1 faRivur feaH g2
(A) TSt = 37 RaaTe duy fomar
(B) 9 URIfA% ash ¥ Jod X
(C) 37 3IER 3 b1 3 §
(D) T 3= fa=iid &

399 ¥ gy § fAffa wrss -1 82

A) X (B) D
(c) faamm (D) BRI

70 Q PF-9T Vsg TR BT I&T6R0T T8 82
(A) IR (B) 3=
(C) HadR (D) THISIS

\3RATHTIP" Teg H 378 J T 82
(A) TR 3R gAY (B) JHY 3R IUTAT
(€) IuT 3R U™ (D) IUf 3R TR

0 3 oy fa=wor &1 o 6t gar 82
(A) TG} ATl B (B) 3 fawmar
(C) AT BT UG (D) TS RO

S-S @NT S 1T, 9999 s wedt Mt g o
T g -

bit.ly/TesMusPrime 2|Page

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

(A) TIERAES 49 (B) FAotaras gdam
() Fisrara® g (D) TSNAAS HG-H
P 3 I YU 1Y BT | a1 &1 9 7

(A) TE I (B) TBAD

(C) SIRIATE D (D) Thdars

TR US| 3HTegT WUS' & A I HH-

1 1o FEferd 87

(A) TER =T (B) TRHTS =

(C) GRTS 34T (D) T IR
TRk & Ig1 "R R o938 Riem 31 M oig
.............. 3 tfeaar feg S1-T 1§ 82

(A) IR (B) ST

(©) o (D) ITHd

"E 8, I BT IR VI HH-I1 8 ?

(A) &3 (B) g

(©) 7e/f (D) &d

AU Teq; BT R U gl

(A) TUREH (B) duat

(C) dUIa- (D) Tufka=

T T3 P TEa ISP R TR 5 Wea) BT IUTNT gl
830 dodal

(A) fa=ivo (B) a1
(C) PRH (D) fopan
IS AR B -

(A) T3 $9 39 FUT 13T
(B) G2 dad U &4 ¥UT AT

(C) T3 Hadl &9 IUY TTH A1

(D) T3 9T &9 ¥UT dhad dTel|
SIS Weg T T 37 g2

(A) U DI 3T (B) 5T b1 3T

(C) T & 3T (D) TR BT 3MT

9 W SyFE T H Bl ygia fad
yfafe sgdt o @1 8

(A) T (B) Uddq

(C) g (D) UgdH

o) & TAUYH UHIRIT U &1 9 ©-

(A) FHITH Uit (B) IAUS HIAUS

(C) W&t (D) TR} TRt Ut

fafafad & 3 39 fdecy &1 999 B o '3 g1 BT
YT WA BT YeTar BT 31 ad HRal g

(A) 3T 3R A BT UG FAMT

(B) HETTTS T Gl

(C) HISATE BT I B

(D) IR YFFT

TRT 1 G T B
(A) 3T (B) fu®
(RIS (D) IR

JAEIE & Uddd bl A1 8-
(A) gitATed da (B) R UI6H
(C) GHeeR UisT (D) SRR TG
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24.

25.
26.
217.
28.

29.
30.
31.
32.
33.
34.

35.

36.

App :- htt

TETaR! &1 Tg o J firam pifore-

1) -4} TG (a) TgT HTYH G G
2) ST I (b) gUT Tdhe AT

3) I BT (c) HDH T

4) Sfceral IsaT (d) $& IR 7 g

(A) 1-a,2-b, 3-¢, 4-d (B) 1-d, 2-a, 3-¢, 4-b

(C) 1-b, 2-a, 3-¢, 4-d (D) 1-b, 2-c, 3-d, 4-a
i faRdRmremarg

(A) TRIB (B) TR

(C) Sfamelt (D) Uit

o1 deAuT Rig & gRT fog ufiiest &1 HureA faar man?
(A) TeTaSoT (B) 3¢d ANIGUS

(C) TIRY 3RIIR (D) ot fgatt

"HETEN" Teg § I4-91 AN 87

(A) Sgdiie T (B) FHYRY TH

(C) AYRY JHI (D) G THI

T fou TN vsal 7 § 3oqdiHIg IHY o7 99 Bif|
(A) UY-qug (B) 3MToitaT

(C) ISHAR (D) TR

fau T are o (e Y@ifdd g @ T A B
TG P YT BT qUH BT §gd &l Hid @ |

(A) Targ® I (B) fddaTess T
(C) YTadTdIdh Tl (D) FHGARISD I3
fFafafad recl H P 1 eg Wil 872

(A) &1 (B) BTdl

(C) =IRHT (D) 79

=8 & UuH TIPR &-

(A) I Riavdre Riarfe<:

((SKVEIN]

(€) HRdg BReY=

(D) STcip™T Hg

A W= @ -

(A) JxIDh (B) TOIS&H

(€) fearI (D) TRTS

frofafed fdeedl # @ fbg fawey o I wee
fFIaTas T 82

(A) I, IARTHFE, TR (B) HWT, ], WS
(C) TGS, 3, §6IUT (D) HHdI, ddbid, Tddh

"I HIST T FUAT" fhdep! T 82

(A) IHERY BTt

(B) o1 @ e RyaR e

(C) STURIHR TG

(D) YU AR Uigg

e T o Waa

(A) TATff (B) 3ifdre
(€) Tt (D) gHexff
o auf &) TR ) TETIaT ¥ Sl o § 3%
Pgd g

(A) TS (B) TR
(C) Sret (D) TTHIT
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37. Taudd ord &1 iy M ATl Wed ) BEd B

(A) TTaT Tsg (B) faohw zrsg
(€) TuFTd® Teg (D) THIISF Tsg
38. frafafad & & ad-t &1 =P I HH-I1 Usa 3R 77
(A) I=ad (B) S
(C) seEfd (D) T

39.  fad ®M 8g fiu U fawedt & 3fud fawea g
B ... FId UMM g8, Fifeh Ioila ITD! ...

31 g B
(A) 30T, 3[Uef (B) 31U, IUeT
(C) 3JU&, 3rUem (D) J0&T, JUET
40. oI B B, TR foett| Rad =i 8g 98
famed g1
(A) TP (B) fSram
(C) JaT (D) ar

Law/ Constitution & General Knowledge

a1. iy 3R TeBT= aA gl |
(A) BT a1 FHHE il 8
(B) T a7 2 o U §
(€) 3 R & T H I Rl §
(D) IFH I TIHR I Il &

42.  TARH (NRC) &1 YUl =9 &1 57
(A) AZFA IR 3 Ricte
(B) A=Td ISR 31 Ryt
(C) A=a Raprs i oy
(D) 578 9 BIS el

43. gﬁfr%mnﬁﬁ,g@msﬁﬁm%mﬁw%mw

(A) SIRTSIUTA

(B) HRd &

(¢) fecett & dlzal & afvug
(D) SWIad H A P13 a1

44, gﬂ?ﬂua—sﬁmupo%&ﬁﬂﬁ,wmm
(A)%rrﬂ115 (B) YRRT 120
(C) YRT 120 (D) YRT 121

45.  SMIYRA W0 SR STy SHWd $1 g I8
ST & ford T=NeH & Sid &1 3T Foprl § qiet

T 8?
(A) 42 T T (B) 44 d GEMeH
(C) 89 o TRIeA (D) 93 d TRMeH
46. WA I & SR AN 3figled & IR |
IR egT T81 &1 T3 ot
(A) Fiifaa Tareif &1 afewR
(B) fac=f axgsft &1 sfewR
(C) At feam
(D) fafewr IuTfert &1 T
47. ﬁy@@aﬁﬁﬁﬁwﬁa%ﬁa%mﬁﬁgwm
T |?
(A) A TR (B) 351 g1

(C) 35T Y01 Ui (D) g 94
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48.
49.

50.

51.
52.
53.

54.

55.

56.

57.

58.

App :- http://bit.l

fofafed & @ @9 s fAds & ¥ a8 § mma d
ez Rigia & sifafvad o= Fc)-

(A) 3T=5G 335 (B) 3=5¢ 350-A

(C) 3J=d< 338 (D) 31 =G 351

ot TRR &1 Safe el e § nfda &t St
21 1a TR H g ST Hgi uran Srdr |2

(A) ISIH (B) PIRT fareett
(C) & (D) PIRHT &
9 7 o W B9 -3 Ty T Teferd g2
(A) THIR. TS ST (B) 3MMs.3R. HIca! HY
() farett ufrg 9 (D) &1 Rigd g
TP ASAR ©;

(A) TP HEH Sags

(B) T AT Sflgdsd

(C) T P TRfuf@ d

(D) T Uipfas TRfRUfias! o

fayadta & & 0 AqurdT & HRUE_

(A) ufafeT auf

(B) B TR 3MdT Ud S1Gel gad SHHIR
(C) XMid arg U

(D) SWRiad gyt

TG ... Y IR B B
%%%Trgcrﬁ,ﬁ-uﬁwah?%q&riﬁm$aﬁaw

(B) AIHTHT & b T2
(C) I Fe! § R1yufa & wgad Traed
(D) TG & Tt 7T Y=l gRI TY TG0l

¢q fadue & URd & IfduE & e orgwig o
gfeHTiye fomam man 82
(A) 3T=5¢ 109 (B) 3{F=5G 110

(C) 3T=va 111 (D) 3G 112

T 1 7 G 2 W A B SR T T e H A J I
IR B! fafgd Fifere--

Tt 1

A) 04 RG] B) 10 TRaR]

C) 30 SRt D) 28 TRasl
Tt 2

1) fa% aefed fdad 2) Aty four faay
3) fay R g 4) fay g fdaw

(A) A-1B-2C-4D-3
(C) A-1B-2C-3D-4

(B) A-3B-1C-4D-2
(D) A-3B-1C-2D-4

HRd BT Falfed Sals R RUd gaEargr &
(A) Y¥aITeT gaTS3rgT (B) fUiRTTE BarSargr
(C) T BATS3FT (D) SERIGH BaTR3Ng

fafiafed 1ok oRal & ¥ 59 snyfHe uRd &
fafar A g2

(A) TTe faferay sfes (B) SIS

(€) e BT (D) 1S 3ifdeis

YR # Fofafad § 9 SH-a1 R-gaufe Rem g2
(A) 3T STfedl & forg AP ST

(B) SYfed SISl SNT

(©) AHAYBR ART

(D) TG 3RINT

TesMusPrime 4|Page

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

YRdIg WU ot fbd Srfgel @ demadt Iror T

&I WY 82
(A) T STt (B) WIREd! Syt
() Tl gt (D) SREdT 3T

e faerfiq, e ot fafafyr & o et 3t
3aRTHdT gl g1 98 faerfte 8-

(A) faerfi= &, (B) faerfi St

(¢) faerfi &, (D) faefiA ¢

Tt 1 &1 2 A IR SR Ru MW He A A J T
IR &I fafed Pif--

g1

A) ST MU 2021 (3N Taha)
B) %5 31T 2020 (Y Udhd)

C) fRefera 3fiue 2021 (Hfgdl Tha)
D) gUH 31T 2020 (T5Y Tdhd)

T 2@/
DEEICREIECERGIER))
2) T3t SfIATHT(SITaT)

3) A% FeTd ()

4) S e (sifeeferm)
(A) A-1B-2 C-4 D-3

(C) A-1B-3C-2D-4

frofafed & § fem 9 ofid, 2021 & YR # SU
TRE BT Ugall 3HaE ST JTIR (ODR) 83
<t fopa 32

(B) A-3B-1C-2D-4
(D) A-3B-1C-2D-2

(A) ¥R Rerd o (B) et

(€) Hifey s (D) T8 HATTd

IR Hed H iy T &1 Yo 9371 U8} &1 gobHSd 8?
(A) gt (B) gl

(C) WTa (D) o=

'2021 II3CS SIdCR (TS’ U H aTelt Ugall HRa
Aigd B & T8 82

(A) It IR0 (B) ST FHA & HRY

(C) BT ieht (D) HeT TR

BT JARIE' YR T9¢ & by 3o ¥ efdrd 87
(A) TS BT a1 I (B) TG T Tgad I

(C) IC SISl B BUTs (D) IWRIad T+

gﬂﬁﬁ,ﬁ?@fam‘cﬂaﬂm"ﬂ@uaﬁwﬁyﬁ@%

(A) FTcH 3R HA

(B) 3NfS=m 3R ufyw e

(C) 31feT Te=T 3R deTHT

(D) BfaToT 3R feHTEw uew

T9 oliep JaT AN B ffaRed S SH UeH B
w%?$

(A) HRd o FUfd (B) 3feng, gUtTT

(C) TS (D) TETAHAT

1 FS WIS (BRO) b T HEIHaIS & w0 H bl
e foa man 82

(A) TS ToH (B) ofia Aest

(C) 3T it (D) =T ol

frofafed & @ fea SRt e 7 ey TRm
FHHHD BIeg" R U1 Ruid 9k} Ft 82
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70.

71.

72.

73.

74.

75.

76.

77.
78.
79.

80.

App :- htt

(A) $THRFT T3 s
(B) TR faHr dF

(©) R gAfafr v s §&
(D) fay ¥

fFofafed & @ fFae grRI SmuAea & SRE Aifde
PRI B Fdifad fear s e g:

(A) ST (B) 3= AT

(C) Taf=r marerg (D) Xryufa

TS PHarery & % forg ST ST B
(A) ST T YT oI a7

(B) ST AR R YR

(C) TG T DT Y-I[GTd HaRIT

(D) S &1 JgddTs! Saa=IT

YR SR BRI T fguefa snar a01-2021
(VARUNA-2021) T 1997 TIH T T ud gl
(A) ST IR (B) 3RE ITR

(C) TI&mT 99 IR (D) 3fSHH IR

ST &1 YUY DI feardr g2
(A) g

(B) T

(C) I TITTY DT T T
(D) T &1 Hared Ut

ﬁai%%ﬂwﬁﬁwm%?
(A) BTl 7 (B) [ 7T
(C) TeRZE Fal (D) AU HaT

1986 T TTTGRUN TR&UT TATH, YRd & Fafafad &
Q fobd 3MMYaT & R S1G ARG UT?
(A) HIUTe 9 e

(D) 3FH # a7 3R 19 g

fFafafea o @ o9 Hx-3sa Jaet @ Jefdd T8t 82
(A) TRSTRTT TANT (B) ISTHAR 3TANT
(C) UBT S (D) FERRoA I

YRJ & WU GRT fhg ISR Ht AFRSG UaH oI

STt B2

(A) THT ARSI (B) &t AR

(C) T ANTREar (D) ST ANl
foferad # ¥ fFa 13 2021 # 25dF IR A&E Tae
R AL I?

(A) ST ar (B) Had HapT

() Rraitft ara® (D) 3 STHITT

e UR Tfem & fhaa UFT, 3rgede SR ST 47
(A) 22 1T, 395 &G 3R 8 ST

(B) 24 HTT, 450 TG 3R 12 YT

(C) 22 YT, 390 3FTWG 3R 8 ST

(D) 24 YT, 425 3G 3R 12 S

%ﬁmﬁﬁ%ﬂéﬁ&'ﬁuﬂ 16 HEISHUGI &1 I
?

(A) g foew
(C) Tish

(B) 3R Aarg
(D) 31fHew fUes

bit.ly/TesMusPrime 5|Page

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Mathematics

T T U Ueh-fagls | 80 fob.#ft /et bt w1 &, T
DT TH-AYS YT 50 b A /ATl 7fd ¥ Jur AW
YT 100 fb.7ft /et @t 7ifay @ @ oo o § | o amn

P IR IGe! 3Nd Tifa (fp = /gier ) om giefe
(A) 75 (B) 67
(C) 66.66 (D) 76.66

BgHm?
(A) 2/3 (B) 1
(C) 4/3 (D) ¥

3 TEmel o1 TWAHT® SR TAHITH HHT: 84
3R 2131afe  Gomsl b1 U 148, A IHT

Temsf 7 § geq Jo! I-I1 J1d B

(A) 12 (B) 48

(C) 84 (D) 108

FS YRR 5% NP &S $ R I Ul

17,640 TUU & &1 AIfe foreat o gHhTS oIl 8] IR ot
g 01 et ol
(A) Rs. 32,800
(C) Rs. 32,000

(B) Rs. 32.200
(D) Rs. 32,400

I (x - y)PI60% = (x + y)P145% ARy =
X DT k%, q9 k BT 21% [HIP IR &:

(A) 7 (B) 1

©6 (D) 3
9x6+24+8=5P2-30+4BT4+27 %59
T 1 B2

(A) 647/40 (B) 493/8

(C) 259/8 (D) 243/8

TF e & UM & 14 gy SRt SR 12 afgen
FHARI 81 HHARA! ST g Bt dod d AUNT B
TeRid & & ol fhaa IR § faumT ¥t g=y
FHHIRY 3R TH Afel HHART B AT o Jabvell 62

(A) 168 (B) 120
(C) 145 (D) 180

e A P 3T B BT 3T F 60% HH ©, dl B BT 3T A DI
3 Y fan ufawrd sifde 82

(A) 80% (B) 120%

(C) 150% (D) 40%

30 BT BI HeT H, 16 Peala e B 8 3R 18 arel!
§d U AR §, SF W fbd- B B UG 87

(A) 4 ()6

©8 (D) 3

T AT 21 %, § U {hdig sId1 g aUT g1 &7 o
Tf=Id T Bl € O TRATIAR 4 Yo & SRR @, ot
fraTe &1 58 e (& ) T &7

(A) 30

(B) 70

(€) 30 9YT 70 GIAT

(D) ITd &1 fopaT St Thal
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

101.

App :- htt

T AR AFTd Ged ¥ 60% P TR 30 A1 P
3ifpd BT § 3R 25% BT Ye Al 31 ITBI AH
Gfc=Td J1d 7
(A) 30%
(C) 25%

TP TaaM | A TT B Sai &1 Y07 4:1 30T § g1 3G
39 Ao B ¥ 10 dex FHTam 396 R |R Ia-! &t
e ® 9 B iy faar S, dr fisor &1 siud 2:3 71
ST qEMER AdaH & ARG Hyor § g3 A 3T
T farat ot

(A) 20 TR (B) 10 iR

(C) 16 dteR (D) 15 @R

Wﬁﬁ,mﬁﬁ?&rﬁﬁﬁﬁaﬁw%n%ﬁwm
R sfaem # ofiwd siweadl e sfaem o

(B) 20%
(D) 40%

3% 56 T, Al T & 3ich T 27
(A) 78 (B) 88
(C) 80 (D) 91

PR B! A UdP ©e 2 fob Hi/der s¢ ot g1 3 8 o
ﬁajﬁaﬁﬂs‘gﬁrﬁns%ﬁr% @ PR B URIYS T
7 a2

(A) 84 & Hi/dier (B) 72 fob Hider
(C) 96 fo5 i/t (D) 80 f&b Hi/ier
Tfd 2A = 38 = 5C g1 dl A:B:C T ER?
(A)2:3:5 (B)5:3:2
(€)6:10:15 (D) 15:10:6

A Temet & U 7: 138 SR SHAGT HE.
(HCF) 8 81 3BT A.HT. (LCM) §:

(A) 628 (B) 782

(C) 872 (D) 728

T 3R M TE B B4R H @ B IHd 7
3 15 faT & T 1 Fxad § SR I B BIS <ot 5|
A9 B BT 16 &7 H T Bl 5] A 31bad 39 B B
forem fo & Q1 R AhelT 82

(A) 120/3 days (B) 124/3 days

(C) 126/3 days (D) 128/3 days

A®T 2 &l &1 sd B F 3 oAl & B F KRR B
g AQ HR 10 &1 & TH FHR Fohar g, 1B B
ST AT B H fbam feT @i

(A) 14 f&= (B) 15 fa7

(€ 12f&= (D) 16 f&a

ﬂﬁma'&ﬁm HT ARG T 12 g3 & fashd od &
12 I3 IR BT 6 TGS TR ATH & SRR
Bl Y ufdwrd iR ge ufawd & o9 ufawd fig oidR
1A Bifg?
(A) 22.22%
(C) 33.33%

(B) 11.11%

(D) 3TH I s !

TP AT 3T 3 B 25% ST g1 ITB! 3
# 20% @1 gfg Bl § 3R R +ff a8 ugd @I Re &
FId PRI S, SUP @A A ufdwdgig @l
(A)25§ (B) 24

(C) 25 (D) 26§

1
V7-43
bit.ly/TesMusPrime

6|Page

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

(A) 1.2 (B) 4.1
(©) 42 (D) 3.7

3 T 4 5 b gUd H T TR IAHT HeWH
JHTIGD 16 @, oY 31 & TBait &7 TNT faoc=1 gIm?
(A) 144 (B) 124

(C) 160 (D) 150

ot YTt A 6% Ul I & YR A W 600 U
YR oWl 4 a¢ §1G 98 Fol gHM & g o T

(U ) BT YA H3N?
(A) 700 (B) 150
(C) 744 (D) 144

A F HI Uy B 87 B DI WRAHT 3/5 8 3R B B
I UY D) B B DI YR 2/3 21 Tl a) U B

A B ¢ Al U & 8 &l oIH ! WA gargd|
(A) 11/15 (B) 3/5
(©) 2/5 (D) 13/15

g x +y +z = 1OGﬁTxy +yZ + 22X = 158, a3 +
y3 + 23 — 3xyz BT T J1d B2

(A) 660 (B) 525
() 550 (D) 575

gfe i Rwer Rigew! B T Iy ISTar I &, d 3l
31 3T 3 DI Ul T 82

(A) 3/19 (B) 8/13

(C) 4/17 (D) 3/8

HMLA={1,23,475 6 3RB={1,35709 118 a
I8 Y= T1d B ot 1 & 71 el & owifea
HIT Y STl &7

A B

(A){2,4,7,9 11}
(©){2,4,6,7,9 11}

(B){2,3,6,7,9 11}
(D) {2,4,6,7, 9}

r «—
(A) 1- (B) 1%
©1 (D) 1+

4

8%, 15% 3R 12% & dH HAN e & A THA

BT
(A) 17.5% (B) 68.816%
(C) 35% (D) 31.184 %

frear 0.7 e @Y B MaABR Ta) &Y 7 TR
I & T SOAIHR U | ST o g, forad $& urit
BT 81 39 MATHR Te b TS J1d B3 g 39 I o
STA TR ST 9Id W 5.6 YSTHICR 9¢ oll?

(A) 130 (B) 240

(©) 150 (D) 250

TR 22 = 2 R 22 = 58 @ 2 1 | A A 2
(A) -1 (B) 5
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112.

113.

114.

115.

TG a +a' =58 dl a3 + a3bI AF A9 & T 1 g2
(A) 80 (B) 110
(€) 10 (D) 140

50 TROTH! BT 3 30 YR ferd fobar T o1 Afp a1
o gg ud1 Ia & Tt ¥ uRepad & 7T 73 & dod

33 o foran 7 o1, <t IE Shd R B
(A) 29.2 (B) 30.8
(€) 316 (D) 34

Tfe A DI 3T B DT 3T BT 40% 3R B B 3T C B 3
Y 24% AP B, A C BT 3T A BT 31T ¥ fobaa ufa=ra
3 87 (SMMUHT ITR ST & Teh R dh Tel eHl

ELRY

(A) 104.2 (B) 75.6

() 101.6 (D) 50.4

e Fafid SgYS & 3fidRes P BT AT 1620° B
TEYS B YT D1 T 1 B |

(A) 12 (B) 9

(C) 10 (D) 11

ﬁ%wu;-ns)::ﬂ%%mwuﬁaﬁwaﬁéﬁwm

116.

117.

118.

119.

120.

App :- htt

fRenfeat &1 ufdrerd faarur qwiar @ (&fte @t @
300 faare! §)|

Number of Players

2 Golf

Basketball a
g o
mCricke

23 17

Tennis Hockey

21

Football

fpope 3R IRPBcard fAaTSal & s 3R F1d HIfore?
(A) 38 (B) 39
(C) 42 (D) 36

gl Td Geard faanfsal &1 e ud Aa Raafsat
Y 3T 1T BIoTY, S BTt & 21 IS siopedt o
S T 3R 9 2 Raefedl 7 Rfsaw e f

(A) 45:28 (B) 28:45

(C) 81:67 (D) 84:133

TRPead 3R Y It & o9 iR 71d P afg
T3S WfeuH # 36 Tpeald Rare! Sig 9d 82
(A) 8 Raarst (B) 9 faarst

(C) 6 faamst (D) 7 faamSt

20% Ui 9 &1 & ¥ 2 81 § 2 5000 HT Ihqla S
T g (=aTe! BHTE! TafeTd foraT ST 8)

(A) 2340.50 (B) 2275.50

(C) 2290.50 (D) 2320.50

AACE T B 3R D SHRT: Yoll AC 3R CE W fig 39
ybR € fHBDIAE SR AE =281 BysieDC®
&ahd &, ﬁuamc%éawﬁw&aw%?
(A)3:8 (B) 8: 11

(C) 9: 64 (D)9:16
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121.

122.

123.

124.

125.

126.

127.

128.

Mental Aptitude Test

39 fdsmed &1 Igq &9 ol dR Weg T I IRe Jafda

T SR ORI WG IR Veg ¥ Hafd B

W g oY 2

(A) ¥ (B) gfrai

(© Pd (D) i

Ui BH H, M, R, T 3R V TH-gIR & SR W §, Al
3 el & g8 %7 A €1 1Y W T Wi B

BT, VP A T BT B BT P GHH §IR HD
aﬁﬁwr@%wwﬁﬂ%w% M 3RV P S d
A HAWE FERRT A I PHII PR S IR W

27
(A)M 3R T (B)R 3R
(O MRV (D) M 3R H

A+B BT I B A, BB T8T 81 A+B BT 3 § ABHT HTS
21 AxB BT I 8 ABPHT AT R A +B BT 31f § A BT A
g1 g A Qo w gdy cuiar s f& p, Q@ g 82

(A) P £R=Q (B) PxR+Q
(C) P+R Q (D) P+R=Q

g did B I Ugd BT & Yebar o, a1 3 Tt e
& 91C & ol fad 916 D 91 e grme

(A) TMHTR (B) RAR

(C) PR (D) fdaR

HTAT BT G 4 JaTs HTAIR B g1 Afe ST BT
ST 15 SR BT T AT df I a AT &1 S
g & forw fea gme
(A) 99aR
(C) AMAR

B I IR BT T MBI F Ue Bl G Hf?

?

(B) LHaR
(D) FTAAR

(A) : (B)

'\‘_
J\ (D)

ﬁﬁm‘%@au&rﬁ fau v faswedl # @ g =1 &1 99
|

nar
27?

4 8
(A) 216 (B) 125
(C) 36 (D) 343

A B 3! Udll & Ufd &1 HIS @1 C 3R D, B B! 584 & A
BT C T 71 oY 82
(A) 4TS
(C) A

(B) vt
(D) ST
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129.

130.
131.

132.

133.

134.

App :- htt

fau U HYT SR Fsh el ) e QUS| I8 A gu %
FY A & T TFHR G §, YA 8 I8 W 1
qA & 9 faeRo e g, a8 fFvlg o f& i M
sl & @ DT /3 ey feu U HuEl &1 aifde
T Y IR BT 8/ |

DY:

1. 9% BH, AT g

2. O 4], T T

3. s B, The T8 &

e

. % BH, Tdaa g

Il 3 Tdderes, &1 el B

Ill. $& A&, AT |

(A) Fad Y | SR Il SFERY Hd §
(B) Had By |11 STEROT BT §

(C) Fad FshY | 3R BT 8

(D) Fad FHY || 3RO Bl §

fafafRd y@er & o @1 1R uarEd e (2) &
yfaefia &

G I FK?,0B
(A) D (B)N
or (D)L

T 3rgepd o ma B, R § ue ue g 8| R e
fasedl & ¥ 98 gl fddbey gAY, S S IhH DI O B
15, 35, 63, 7, 143, 195

(A) 99 (B) 77

() 85 (D) 98

= Fafafed oy & s vy far § e 2

FTIATE UTe BT 8] T8 AF U Bt wy H o off

fear & 9 3, Fofa it &t fg & @ o1 1 oo

SEE

DY:

ISH & GRM, TAC 3 W B TRWH B Th o4

HTH gl B 361 |

PRIAEL: | UFdAC B Jeg 4 Sea (bl Aoaie!

RO R d8 BT a1y SR TR fhs dheld &

=t 1 UTEH o ARy

Il. G IS BT AT SR fhdt oft A= &t vrelten

PP FHY Y gl BT Moy

(A) Ha | TR HRl §

(B) T Il 3THRUT Bl §

(C) G 1 3R 11 SFTERVT HRdl §

(D) AN 1T 8 11 STIR B §

fau q O &1 ergde sierEE HIfoTY 3R I e

%ma;ﬂugﬁuﬁﬁsﬂﬁwﬁa(?)aﬁmnﬁﬁaﬁ
|

A
DY,

(A) 82 (B) %6
(€ 74 (D) 64

3D Th U 3R &l Y fou TN g1 uga= & &

%ﬁ/gm/ﬁaﬁwu%mwéﬁésma{W/mﬁ
|

I, SRE 29§81 § S AT F GRAT Fe

T SR B adH 3 T 82
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8|Page

135.

136.

137.

138.

139.

DY:

1). T, SRM 3R T B Hd 31 27 B
2). 3, T A TSR

(A) BYF 2 3hd T §

(B) HYT 1 3R 2 Th 1Y ISP &

(C) PYT 1 315 UaTd §

(D) YT 1 3R 2 B I & foIw yaid a1 &

TRepry iR Apyafeme e, g ) iR an I
3ifpa forar AT {1 MUPY g 99 BT ¢ P P
1/ 99 BT 3R ¢4 F g i 3781

AT &Y 3T T 67

| T, faar oiR =i aft &t oy o g |

I Tag, H=@ SR SR BT S BT AT 328 WY
ﬁ,s%vﬁmﬁmﬁ%maaﬁﬁamm%
ERERE

(A) B |1 3Hd TaT g

(B) Tl HY T TTY {TIIH 3|
(C) TT A 1 3T 11 3P Tufe B
(D) Y | 3hd T g

e U AT He U1 & ROCKET &I XLIGVP & =0 H
Fed o oTdl &, @ I He U H MOBILE HT B

Pedg foar e
(A) YLNVLR (B) YLNVOR
(C) YLNUOR (D) YLMVOR

39 fawed &1 999 B o efipfd- x siafiea gl
(GOf T 3FAfT T ©)

(A) (B)

 w—
© (D)
U Ff¥d $c W1 T 'PSYCHOANALYSE @11 @
#$%AB*&<# @ > P U T forar ST g1 I e 7
'CANALS’ & feraT STeem?
(A) $&*&< @

(C) $&*&# @

frofafed Tde Uy & 1F I IW 1P Uy opid &
UfeRed &1 QR-T HT|

(B) #%*%< @
(D) @ #"&"%

Y 3MTPid :
@
IR Spfaat :
(1) (2) (3 (4)
(A) 3T (1) (B) 3MTPId (2)
(C) TP (3) (D) 3T (4)

Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

UP_SI_2023 TEST ID - USI - 887702527

140.

BN & Uh ¢hs & Ale &1 HH R o ToR
T T SIS BT HIeT T 7, I Fufafad snewfaal &
TG AT 8| PIT Wiet ofF TR S fears aom?

Uy MMPpia:

-
-

N\..
vV Vv v
o, Vo b
(A) - (B) 14
O O =
O (o)
© O O (D) o

fd=r (141-143): U& st JUT T R A=A B 59 e

141.

142.

143.

144.

App :- htt

TYUT TS BT T AYC AR ol ol § df d YD
U A H Ry Fm @ Fd U %
gdafRyd it ¢ Fafiiad gqe qut gaaiawn &1
TS ISR

§1Yc- ponb mesr 30 58 78 46 wsdr cknh
IROT I:xtes 157 ponb mesr 30 58 46 cknh
WROT1I: gpoc 117 xtes 157 mesr 30 46 cknh
WROTI: nfts 93 qgpoc 117 xtes 157 30 cknh
WRUTIV: dloi 61 nfts 93 qgpoc 117 xtes 157
TROT IV is the last step.

fafafad sqe & snyR W FAufaRad usi & Sw S:-
g1Yc- bvgr ktwqg 64 96 18 36 11 rexv cgby asdf

fau U $qe 1 Sifo =Rur @r ghm?

(A) dhcz 73 luxr 129 bteg 23 cwhs 37 sfyw 193

(B) bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193

(C) luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf

(D) cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf

9 & Q B 1 Wea/HeA =R IV H §1¢ BR Y yid
DI TS SR F GERT G
(A) 11

(©) 73

(B) asdf
(D) dhcz

TROT 111} o TS ST YT TROT V & 918 BR I gIRY
TR T 3R T IT?
(A) 128
(€) 78

A fFufafed Te uy d & oy feu U € s
3 &) fwp | 3R 11 T T 13U faeR PR @
% ®YT 9 B TR 3 IHRd: 3d a3 i udia
gla 81 3muep! fofa e @ fb fou 7w Ut # @ -
1 e, afe #5181, FAfyd =u 3 a2

DY-:

A) T & UGW ¥ FHIBT IR AN BT SRTara 8wl
By % G 8 oo A

B) 3 3R

frsp:

(B) 120
(D) 170

|, STeT b T & 3R 8 gepdl gl
II. 3fTFoaR Teb TehTHD I 8

(A) $9d | Frspd Tl B

(B) I || Fpy Tgt g1

() e | T 11 ST TR B

bit.ly/TesMusPrime 9|Page

145.

146.

147.

148.

149.

(D) Y | YT 11 S T B
fgfoiad gy 7 T U fawedl & O Tafda srert &1

BRI

BD: YW : HJ: ?

(A) SR (B) QQ
(C) SQ (D) ST

TS Y 3R I HUT HHS (1), (1) 3R (1) 3T H g
T 8, SMue! fAofg &1 § 6 Uy &1 S 3 & e
B /8 HYT 14 8/ 2

UY: A, B, C 3R D BT 3Gd a5 &1 82

DY

. B T aoH A 9§ 18 fhaum 3ifdis 8 3l ¢ ¥ 20
e 31 §1 D &7 aoi 40 fHeum™m 8, S C ¥ 10
P FH B

II. B 3R C &7 31¥d o 60 BT 81 A BT a9 D &
o I 12 fpeum ifie 2

(A) P HYF | 7T B

(B) Y | 3R || THITY TAT g

(C) STeT yaT el B

(D) $Id || T g

g o § 39 Ao &1 997 = ol & 7 eepfa
SAriRd 81 (3ad BT AR 781 8)

N
5 &

(A) (B)

< (D)

39 fIbey &1 Tg o s & 7 snepfar sidfiRd g1
?ﬁﬁ%ﬂﬁﬁ&aﬂﬁﬁ%

(A) (B)

(9] (D)

<O
© (D)
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150. U 3JhH faan B, R § Ue ue qw g i 7w
fashedl # 9 a8 Tg! fddbed gMT, S 31shH B TR |
AZ, GT, MN, SH, ?
(A) YB (B) VE
(C) YD (D) RI

151, PH-U IR NPT Uy 3MHid P Ufded &1 IR1 Hfl?
Y 3Mpfadr :

?

Waﬁm

N

(a) (b) (¢) (d)

(A) 3B (a) (B) 3P (b)
(C) 3T (c) (D) 3MTepidi(d)

152. e 'ANSWER' &T HIS ‘NBWTRF' @ d§ 'MYSORE' &I
HIS T GNI?
(A) YNOTSE
(C) YNOTES

153. O &y fau MU § 39 a1g dF ey |, 1 ek 1 i
T4 81 YT B I T g, HA € A TG T qe
¥ i yfia g1d & g Flg i i @9 a1 ey
FHY! BT AlfhH T J SR BT 5|
DY
. it AR o9 B
11 &Y O Ufret T B
Il 5 97 IR B
e

|. O U HIBR B

11 YS AT AR et B

lll. BTS AR YU el g

(A) Pt | IR 11 ST FRd &

(B) T 11 iR 111 SFTERUI R &
(C) AT Al I | T 11 SR el &
(D) P | 3R 111 SFTEROT Rl §

fAd=1(154-156): FEfidd S & wFydes ¢ SR
TEIUR Ui & SR & |

TS fppex 3UfAM, N, O, P, Q R, G 3R Hfay &y
P SR SIS B UP gled Bl TS -3 HiSTdl
R 3B ¢ AT ol gl fob s A A 8f I ugd ad
H a9 TS 1, TR a9 B! ad Gom 2 3R TH Re
oY FU I DI a9 IS 8 /™ T 810, RS
FRsEI7IQ

GP 3P FW TS FHT1 I H 3R G & dF a1 T 34fdp
T S 1 R fawH G arelt |ioTeT IR BehT ©, Afp ot
T AT W TRT H,

RP 3l I TR 81 M 3R G & s T AR 3P g
P, QP 31 SR Afb N F 3ieh 1 FHT R

154, Fofafad § @ oF ! w@foe R vo137?
(A) N
(B) T8, ST M & &b A1 sbT &
(C) T8, S 0 & ofiF | SR Th1 8
(D) T8, STRIRN S ST H THhT 8

(B) YMOSER
(D) YMOTES
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155.

156.

157.

158.

159.

160.

M 3R PP dF o8 AfGadl &I IWAT O 3R F

dTa oY cufdadl Bt T & JHH B
(A)N (B)R
(©OH (D) G

gfe H, P Y T&fd 8 3R R, N ¥ Tafdd g, df I UPR,
Q fred Teifia @ -

(A) O (B) N

P (D) G

frofafed Uy &t 3 & 91g & gdURom | 3R 1
T8 g1 3MUD! YT B II HHAT 8, HA & 98 I
a0 at § e Uetd g1 3MUD! I8 o0 BT § b DA
< gduRon, Afe ®18 8, fay ey | siafifed 81
HYT: Wi 3R 7 T & Riap & < ugq 21"

qdYURONG:

I, TIifer 3R T e8-3R § 7E) 8 gha B
I1. rifer 3R 1T Ueh I U § 1

(A) IS Faa gdyron | faf-iRd g1

(B) TS had GauRUT 1| 3fafied g1

(© TN MR AL 1 AR gl

(D) T 1 3R 11 Y siafifea Bl

faffaa uy # U Sy & 915 o GYURUMT | 3R
11 6 T B 1 3T fAT 7T HU ) I HAT R, HA &1
IR T1d a2 § e Ueid gid 811 3ue! ag Rl
ST 8 b &) 1S srauRumst # ¥ i ot afe
B, faU 7T HU BT STIRT Fall B

PYF: "I AT B AgAd B &, dl 3T e o
3ot g

S[AYRUMY:

1. 3y gden § Ihof 78l g1

I1. Il 81 & T, U Bl Ag—d B! 1feul

(A) TfE Fad srgyron | FAfRd g

(B) TS Had srayron || Afiga @

(€) afe T gy | T & fAfga @

(D) afe ST raeRuMy | 3R 1 FAfRd &

FHYT A: TH B30 UKl IRG Bg & 3 R A T 5 gH
1 faRIy 78T Bt g
Y B: 3 UHR, g7 ! off signis & Fodl 9 81

SRR

s .

|. TRS Fg H URKN 1 a1 g1 eS8
Il AT Ol & ST T8 5 |

A)Fa T (B) Had II

(€) T 13RIl (D) $ad |

& I A, B 3RC T THE AYSHR Ui & IR
3R ST RE VTS ¢ BT A 3IRB YR T 3R ¢ M p
0 3| U & &1 AT 6 HeR | B C & fam-yd & wel
8] A 3R B HURT: 6 Hiex BT g & U IwR-ufdy 3R
JWR-d B! RE 60 f$ R Avad g1 a9 B iR A H
P 7P T1¢ 3R T BT 3R &4 ¢ 3R ¢ R
S 313/ A 3R B & g & g a1 87

(A) 6 HieR (B) 0 Hlcx

(C) 28 TR (D) 742 Hier
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10.

11.

12.

13.

App :- htt

Answer: (B)

TBAMES ded-o arad § gadl ® 33T, HIEHI,
3efiate anfe &1 UG Udhe BT 8, I SWAES alad
Pgd gl

Answer: (D)

98 Hid off ThTd Hiddl S H HRA 8 I &
T T TG - SRS a

3 faded -

goid BT 34 - 33T 1 IqH Hid

TRIH I BT 31 - ARTHT ST AT

Answer: (A)

0 T el & IR Weg SUCH IR R
fdwr-fa + 3w

IRYE - W + U¢

BeH - 35 +1H

Answer: (D)

& A 13 100 T B =R @t &R T & v
Uaferd Wfsadh WU I &M H I1Gd gU &R HBT Pl
T 3YH Teg U g1 45 B <t 7 UdTei Pgd g
Answer: (B) f&d TR T & SIUR IR '3 UIRI[dH
T I Gad BRI B T eg JIGIHSG =m0 g1 T
I g S T T U AHR T Ve Y fA=wor
5 aRg faxivar ga1d €, 3 e fARiv Hgard g
Answer: (B) 38 T Treal § o' Uy § fAfHd Wrsg
T P PT + TP Ul S AN ¥ &1 ] TAT TH'
TY T 21 U TeE & 9D (I § 98d § e
o Weg & S (4d) Fod 71 AW fabed 3Rl 5
Answer: (D) THIN&" g TfY BT ISTERUT Ta! &l
mﬁ?%aswuqummw+smw
FRI

I fadhed TUR FT WY fdwse 9 + R, 3dd &1 $ifa
+ 3 3R YEMR BT q + 3R T

Answer: (C) T & SR 3RATHIfAS" Teg H IUTIH
3R TTT T 8| ST WHIT T Teg, '3 IUWA 3R
3" U g A Ihed 3R B

Answer: (C) & T TRIRT & SFTER '31fgH1 ST UIGAT
o foRIvur &1 Uhi 78t g3 8§ Siees IRIGR HRB Bl
TINT §31T ¢ | TRal Al o, M1fes fawman ofik we TRom
T fa=IwoT &7 U g Bl

Answer: (A)

TIRIATES A - ford oM ¥ fheft gk 9d s I
Trey R fobaT oy, I8 Freyarad 9o+ Hed gl
S —oMgT-99T, S-4l|

I BT Ufecdp 3 §-TaT T i fedt I &
R T Sem a1 gaM & R I P WM W Ygad g
I e Y HEATd o | oI9-gH, qH, | onfe |
Answer: (B)

TRBAMAG ded-foF g | dadl & 33, HIEHI,
3mefafe 31 HT1 HIG Yabe BiT 8, I8 SHIaED A
FEd g

Answer: (B)

ST & "ORATA M IR Bl ' 3HTeg] TUS' & AH I off
T SIAT 81 39H HEIET (S.T.) P IR 3MTegl 3R Hed o
FRaAT P YT, IR U F 3y 3R A YW & gad
QUG B Tl b0 IR AT B

1865 . § ATeH 3ferge 3 forg ' 31Teg] WUS' &1 YHRH &
AT T, 98 AR RERT R &) 3nelRd g1 s ufa &
YR TR ST YR N A "IRAT ¥4l &7 16 Ryl
o fobar 3R I ANRY v=iRoft GHT / U TRId B
Answer: (B)

bit.ly/TesMusPrime 1|Page

14.

15.

16.

17.

18.

19.

20.

21.

feufif & I RRR W o Rrer & 2 sig a8 U
&7 "I HeTeTed ¥ ot Tt § e Tafidr s
FR TIG € | HTHE STATEre! I &1 oy ft wet
HTH | BT Bt IG11936 5. B UHIAT g3 |
SRR TG -

Rl ®fd, TCH PR, FEHIBR, STINHR adT -
éﬂ@;%é%ﬁ%@ﬂﬁﬂgﬂ%ﬂﬂﬂg@ﬁlﬁﬁﬁq
F Bl

SRR UG b1 7 - O

Answer: (D)

$S = -3, F I (B, T, 7, 9, T)
ag-g—s‘,aaﬁ(%r,@,ﬁr,s{a)u,m

g -B, T F ([, 3,8, 3, M, I, ¥

Td=dai (@Y q Y™ d =" @ qof g = 3I-
GG,qaﬁ(q,tg,a,u,u)

Hodd = T-

Holg = -3t

Answer: (D)

FS U el b I A 'S F VM R FH UG @
PR ITPT 3= foltT ST S B

SY: qUGT - quiegHT

3T I -

foir - O3 o 59 ®u 9§ Afad a1 a¥g &1 R a1 4167
Sf1fal &1 sy g, I A § AT PEd gl

ORI - R T wed! A g Sfifq &7 Sy e B, I/
Jd-aX, &4, dh], TTShI)

AT - o T Wsg F W Sfd BT Y g 8, I
AT Fed g1 @QT, I, 9, P, saRan, gRe,
Answer: (B)

U S WM R TG g a1 Wed DI FATH Hed
%l@ﬂéﬁwﬁqmﬁ$mmmmm
STl

S9- ®, q, qH, MY, 98, 9 3|

Answer: (A)

3T U fadedl § ¥ g5t ad g $UT A1gY | a1 Y
< B, 3 fadeu 3IyE 3

Answer: (A)

G T Teg BT T 312 - U Y 3T BT & 3 faepey
STGRIR Weq, & et 3f TSR |

3 fapeal & 3k -

S I 3N - FSaid

T B! 3T - grEd

Answer: (B)

quf aTey - 4R R Y TES § UdeH &t ughi e
gfafes sed o &1 1

fawe

gad &1 3 - Ugd BT, ST

UgeH &1 31y - AW U F g1, IHSHT

yraa &1 31 - g 3, e ST

Answer: (B)

Jad AIaus f§d) &1 UuH THRIR U UT| 39PT BT
3073, 3¢RE 5. H popdl I U Idlied U & =4 |
I G AT

Answer: (C)

'3Te T PT UG ATGH BT GgTaR &1 37 "HieTs
1 I g &

eTaN - 'GeTaY’ &1 3 Siadrd &1 HTH & Widhidd =4
Q fodt 4T B Uhe AT B

3(d: 9g1 faped ¢ "Hi3TS BT IH AT ]

Web :- https://tesmus.com



http://bit.ly/TesMusPrime
https://tesmus.com/

UP_SI_2023 TEST ID - USI - 887702527

22.

23.

24.

25.

26.

27.

28.

29.

30.

App :- htt

Answer: (A)
aﬁgﬁgﬁ%mfﬁwsﬁﬂ%ﬁw%w
|

%mruanwwvﬁw%m%ﬂﬁmmmw
|

Answer: (D)

JETe Ud, geTedl adf 39 ST URT & FiaFiy Hfd

A S €| BTATE AR BT AT THeeR Tusy o

InI

Answer: (D)

TETaR &7 37d-

1. A1%-Yt TGHT - YOI Yahe Bl

2. ST T - Hefdh TR

3. A BT - TS IR A G

4. Sfcedl IBEHT - dgd 3B G BT

31d: faped (d) TE IR g

Answer: (B)

U1 B3 =i vt foredt wireht €1 ug 91 A <l fordt

ST &1 SR A 52 iER g B

Answer: (D)

Tolt R THRR v & Tures It dequr Rig A1 ol

err Rz 3 3MRT ¥ goniRdd Ame td uF e

qYT Iferary o I, Hegd 3R ST AHTerd P
3gare Ht fasar| e wenor Rig A RaR fe &t urat

earactt gad fgal fora &t Hifa &1 faRly fan s5i4

< Rl foram &1 e feram

Answer: (B)

AT - AT BT a8l § - IfSEHR0T| 3ThT

fsger 31 BT § Blel ©U | 31Ul S gr a1 a1 ¥ i

el F TR T =701 3R BleT eg 70T & 39 Vg Bl

A Fed o

HETEIT &1 TAN g - T 8 o glu

(FHYRY JA)

FHYRY TUN - 98 JAN T ugar ug fagivor ud

TR U fa=rsy giar § srar Td ITRUE § IuHH

- IUHY BT A M WAl ¢ PHYRY JAN Hgard

gl
SIY- HETEIu & 819 3@ hd © 1o ¢1U & e g %
fIRIAT IaTS S 8T © 3fck: T§ IaTexUl HHYRY WHN
& Siqifd sman|
Answer: (B)
3fordtHTd GHI § Ugdl 91 gduS 3(oid gl § 3R 39
1 3 YU BT 81 310y & TANT T THIAUG HY 3oy
9 11T 8 | 39N gdUS W 8l § | rerdiyid Iu &
REARRLUI
* JTSTH: OFF I PR
* gyHfd : Afd & AR
« gfafed : faq-faa
* JTSlaH : Sfta HR
Answer: (C)
Ygarae I - o Weg Al W wm uerf @t
STRT, G T UG P §1Y Hd 8, 37 sl &
YIgdTrIe I Hed 8

|
ASTHET B Yardl BT g BT dgd &l o 8 |
Yerdl Teg ¥ Yo BN & Wi BT a1y 8 8T 21 3k
Yl U HadTdd I3 Tes 3|
Answer: (D)
T S BT Sy BRI a1l el b AT g HEd B
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31.

32.

33.

34.

35.

36.

37.

TG Teg Tl Sfd BT 1Y BRI 8 3(d: T, T g
|
Y- ASHT BT Wi ‘ASH!' B

Answer: (B)

fH & UuH TWHR dwqed § Il UHE
T TR 81 URdg sREs T wifed & wuH gu
YRAG T & Udds 3|

Answer: (D)

Yiadrad I | oS, §e, dC I 3fd gH e Iemd
WA I 31

fRaert - iRl

Answer: (A)

fopaft off faxiv =afda, avq o1 M & A8 &1 1Y A

el T € Afdaare I e § 159d fdid —

feT , ®IF , ot 31 &1 Sy fBar Sfar §1 W,

AR SR T gt fdiaras O3 8,

Answer: (B)

FW'W'%@%WWH@W
|

e, SamBRul, 3faem, Wi onfe fafy fawdl w

SR U 34 GBI BI o1 Bl o Riavwrg 3

el # Frafead e Sgd uRiE §-

AHTYHIR

qH HARSH

SRS BT HIaT

fareipy

ST HIST &7 JUAT

3faer faftR A

et g

HaAHE-3H (THDB YT

fofy gra=h ufdde (1868 %)

Answer: (B)

3P VGl & TP TMeg :- YW H B3 sl & WM WR

%m%&:ahamsn HIST I UHTGRE Td 3ThNdH

|

o o 3@ ft 7 81 &1 sifdhe Fgd B

3 fapedt & 3ref -

wrff &1 oo St oA fRd & R # e g

el &1 3 S gt B gHE P A S@ar |l

el drgarel &) WA HEa g

Answer: (A)

for U et H a ey T8 § Hife o &7

IR foA T TR & -Tg! foam S|

S T BT & - il 9uf Wi 1 Jeradl F Sidt old &

I% o HEA &l B FoH P IR F 3 WR

BT 21 3 P o S BT SR A1 81 FobaT|

g

Answer: (B)

Pt 2reg 1 fAud a1 IeeT 31 A 91 Usg B f3eliw
6% T & | GUR Xeal | BT o dl TP el P famia
g1 JeeT 3 2 I Yee, faaiH eelid g1 3rd: fadm &1
31 B -Ieer a1 faRieht 3ef 3 v |
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38. Answer: (C)
ot BT 34 - gat 7 31 I U H el f U
Sffireged B 1 fspaT b ped B
FEW g =P ¥ oY ek 5| TEd BT Y& ¥4
FeWfd 8, og ut o+t wgt 31
3 fadhey -
e 1 34 - ufer, Jar
FHartEt o1 31 - wfar == are Wi
Ioad P13 - e, WD

39. Answer: (C)
1 B IJUEHT bac SHIY §3, Fifch IAsila JHDT (UM
Y gfaam Bl

40. Answer: (C)

S &™ R, Iat TR et g § foaH-
I Real o SINY favegl &l diell H G SamT off g7
B 3 fawpe ¢ Tgt grm|

JIERARS FaaH - o9 TaqH et BT gaT foedt
TG 1 Afed BT T~ FdH & g fHar 9Y 7 g
YIS/aTIP Ja-TH Hgdld o

S - O-39, St-3gt, Sra=r-Saqn, St anfe

Law/ Constitution & General Knowledge

41. Answer: (B)
G 3R UHT a<it A | a9 e, smafy ok s
ERIECE]
S T TIf F T
a1 i SoTl &1 T =Y § St Uerd & &0 & BRI
B 81 U fagyd FEaig Sl € o faggd iR
YD 1g & & TN ST P PRI BT |

42. Answer: (B)
- TR BT gUf =4 I ARG AR (National
Register of Citizens) I %I
« 1951 I SIUMT & §IG 1951 FUBT 3 H T & oy
Ugalt IR dUR o T o)
- PG AAIRS AR (NRC) S FH WG TRTR I
FT TP IR g, et T Ariear siffaay,
1955 3 2003 S N gRT A B

43. Answer: (B)
1991 % 693 HauTHe TN HfAHTT 3 Fx wWRia
yew faeelt @l T IRy guil uaM far, SR 39 g
oI &7 fcedl oY bR & feomga fvan ok Rt &
UIN® &I dffede @fGede) TR & ¥y # Aifig
o 399 Rt & forw e faum wun ok Ot o
T IRYS 515 | U, foweht o u Ay uRvg ok
T HRGR URYG At
faurayT @t dred 70 9w Rufka @ 7, g @i
AN GRT AT ST 81 A9 T Gala YRd & gA1d
TN GRT foan St 8 1 faum™ QT Iy it 3R Tt
T & it ATl R ST S Tt § Rara Iy =
& dF AHdl BT BISHR, Ul Aau-e ST, gier™
3R YfHr| AP, TOE & S FUHIHT §RT 91T 7T
HIA TR ST 8 7
TR &1 Ukeg B diehd [AUHTYT &) $d didbd HI gl
gfawrd €, Tl 9Id - U o ok B8 o T
qerHE B fgfad Igufa )1 &t ol © SR
BRI g | 3=y Hidl B G-IHAl Bl Gellg W
ERT g fovan STl & | Agufd BT w1 R WAl
¥ gd ¢ diuRve yaes ¥ U § ey & ufd
JTRER Bl 5

44. Answer: (C)
STRITRres TfoT=T bt & YRTSf & Siafa =mfira fasam man
7 31Ul URT 1209 3R 1209 3R S MRS weai

App :- http://bit.ly/TesMusPrime 3|Page

45.

46.

47.

48.

49.

50.

oI gRUINT FRar 8 b - 9a < a1 &) ¥ 34fde =,
PIs 3dY DY, 3YdT, BT TN BT Sl 3y el 8, 1Y
WA gRI, A AT PR D JgAd Bid §, a9
TeHfd SRS Yed= Hearn gl

Answer: (C)

-89d Hfae™ T=Me SHAATH & gRT ryfad Sfaar
AR SgRIT SFadt & T Sgad i SmET B
SET-3fer et # fawford foa i

« 1950 ¥ A 2020 dF HRA & WAy H 104
e gU B

« 420 Tfge™ SenyE Siffaw & i didum & Tu o
Y ST ST ©, 59 URATaHT § AT YHARUe SR
THdT X! Pl SNST 3R TwbG 51F Bl Alfeid Haal
& ¥ ¥ ST T Y 2 AR 1976 § AR fbar
it

- 4391 Tfge™ =Y

YT 13 30ia 1978 ¥ @R fbam T o1 SR 3¥H
e gHiten &) fFqal & Fard A R I
T & SHABR &F P! §8Td B faar o1l

. 4437 dfay d=Med fFTH 6 RideR 1978 ¥ AN]
foar T o1 SR SEH ITW ST Uyl & dgd
I fagie 3 ‘3iaRe Srifa’ e Bt STg A |

< YRAg "y @793af dfRym Iy Sifdfaw
20 SFast 2006 ¥ A fbam T AT SR SR WHR &
Y-gry ot 3= e I & o= fUss o &
forq 27 wf=ra smRefr veH faar

Answer: (C)

o WA TUH P SRM 3GEAN el & faR &
N & o1 U e T8l Bt ot

o TAFAT TUH P SRM 3EEAN el &1 fauR
TR Tarsif & SR, faesft axgef & aiewHR iR
fafes Iufaat & Sreadur oF uRee T B

o STTANT TG 31 SRA 1920 B YR ST T 4T
Answer: (A)

+ 3t Qe Y 3fid 2021 H Y fow wfe & U H
g faram i

* 3d 2021 , dHed &1 fgfda affa @i = faa
gRyg & *Uu A fad Harea & g faumt & afyg & &
AT B IR B ) Hedl ¢ R

* 3Y Ugd 9 o0y faumT & g U

* IR SO YT UTS & R WR U JgUl fobam|

+ At DAY 1987 ST & AHATG HeR b ALY
BRI B

* g |, e SR yRa » g dfi F =ud @
IRA I

Answer: (C)

Y™ & ur-Iv & e et & sifafted $9 o
e, Ifau™ & 3y & it 8-

70 ¥ Ugell, "TH.I. 3R T 7 el & e grar
ufd UM XVIT orgwye 33581 QuERT, "HIGHTST |
fAder orufd wFTXVINE 3=3e 350-A8 3R R,
fet v 7 faeery Srufd 1Rt Xvil H S 351 §1
3G 338 P SrIYfId Wfd/ SrIgfad Senfd
AN & Fefd g

Answer: (C)

foreht SRR 31 3rafie wreh Seae & urs Skt 81 78
ST TR § T BT § S BRI & AMNE & i
3 A §1d €1 1T 23 g TURA B1d 7 | Sifom g Y
T UG T ST B

Answer: (A)

THIR SIS dIE, 1994 7 3Jwe 356 ¥ AU 3R
TP UGN R $3 Ufaeell BT e fbar Tar g1
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51.

52.

53.

54.

55.

App :- htt

Bad 3 ey e & P I PR Bl
TG PR P e FRO& T 21

bad ® P51 T o5 IPUT BT S(oe IEEIWOM (SO
g A &) & 91g & Y9g & 9t Fet gR
SHICT RIfdd BT TN =1 AfR T

qq dP, 3feTad A Hgl, FHad Ay I Y Fefda
Ty & Uyl &1 Fdfed HRb QY GHT &Y
fcifed B Tpar 2

fayr gv1 &1 fage Ay ©u  gmra 91d 2

3IPT ITANT Had I RF W fHar S =1y S8t
U IUINON & eI Bl UK HRA & [T aAD
REEIRCIRIEC!

Answer: (C)

TSR & HHY U o ¢ ol I7% gRT §91/
a7 31 39 Ukt o &Y quf wer S § afe san
mefadl & fda & o @it meayl Sfew sk
Hifde b 8l

Answer: (D)

IWIFd BRI & faATdl [y P Faide [9d 1d gt
et oA Seet fayadia & & st § o 9gt #
AJUAT DI HH HAT gl 3P SMfARad HEHERRI
YRISHT GRT YT &7 I a1 T W o off Jers
gl

Answer: (C)

YRA &1 TYg (YT UTfefaTie) YR S8 Pt sagITuewT
o1 ar e 81 78 fue-ia sgawi 31 URdg 9
T ¥ j1yufd auT 4 Fe-

ABGHT (@RT BT Te) TS ASTTHT R4l 1 uRue) g
A5 YU F U TG S oAl A S il i wea o g
AH T RIFT B 31YT ABTHT DI T B &1 W
B HRAW I &1 TaIe W9 Ha A giar gl o fb
T8 ol A fUT B 1 IT9HT B 3= T Td AbgHT
! AW e H7T1 1T 8| IR I8 Hdd HFAGR H Hgl
ST 8 | i HReg T3 & wal off Aeayr 3 forg
Y e vd I 9T & ot S Y e &1 WA |
RACRIKIBIE]

Answer: (B)

<o AYTH B URD & YA & g 110 H
R foram T g1

- 3Twe B o fadgs &t fawgd aRyTT 3|

-39 78 t og1 T 6 9l @1 < W AT &
foe Yo SFRIUUT a1 WFE WeR gRT RIFH™
TSl & foTT @IE T R & JTEG § U6 fOdus B
o fa8ae el /H1 STe |

- 3¢ B H81 T § 5 SIS fadass oF fdgs g ar
6l U8 99 B & fad | IHT & gHafa o1 fFofg
3ifed gR T

Answer: (B)

Iy SR Gaw ufdad 04 BRadt &1 & TH™T ST B
3 {399 &) 7H &1 I STRehdl 3R 39 SR &
IR | Bl B HH HRAT g

Ty Tare g ufday 10 Brad &1 & 7=/™1 9l 2|
39 a9 &1 T & 3¢ ded $! UGAR $I dgrdl
1 31 gl SR 2016 B SHARTP aTd I8 iy faa

T
Ty ¥ feaq ufaad 30 T8 &1 gt 1w o 31 39
oo & M & I AN & o T AT B AR
SRl thel 3R D! ABUTH BT 8

28 BRaY), 1928 H1 e & URE Wifdw fagrt W
FEIR dbe I A THAT GHE Pt @t Bt At o
o 9 1930 ¥ 3¢ 90 REHR ¥ I fam T
T & IUALT H 28 W], 1986 I TP aN 39 fo &l
T fas feaw & ©U & 7™ S B |
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56.

57.

58.

59.

60.

61.

Answer: (C)
YR PT I &1 gaTs g1 I8 8T8 3T 6|
T TH% a9 ¥ 10682 BIT (3,256 m) HW g
gals g & A 1991 flig] HNG IHpa R & 1
TR 1 7 § Foret fRUge 06 gars &5 & 3ard | g
Answer: (B)
I gy I, ol a1 B drS Sagiel & A1 ¥ S
AT, 9 1848 J 1856 9 HRA & a-R S-RA & =Y A
F1d a1l I9% TSI & GRIF 1853 H, da3 3R
30 & §9 Ugell Yad dR9 URY §s a4 39 a9
HAGT 3R MVRT & o9 SAUTE JaT L= & T | 37
Tt Rt &1 T Fa ge, e [t faumr @
R 1 3T TS | WIS GURT & HRU Al SISt
&I YFE YR o1 Fafar o gl
Answer: (C)
. TSR TN (NHRC) 3R I AFARIGR
(SHRCs) duTR, TR daufe Fem g
1993 ¥ IO¢ & TH AAFTH AFg SRER
AT, 1993 & W& & dgd RIfua foar mr il
oyt R T a1 e § o YR iy |
IiRad b S g
Answer: (B)
o URGUY WfAUM & ®Rgd! gl ¥ dard I
GRS IR Urae™ g
o YRCT TATT BT 57 S BT 1992 H 739 Wfaer
=M HTATH gRT SIST 4T 7|
o TP SAId $© AEAYUl [ Uarad &1 faai,
yrfior o, RIS IHeH, IOR, I8F AR Jaeid
affe 1
Answer: (A)
fge®m &t 12 & Hleaite H H81 Sar 8.3 Ue o H
ARl faerfid § o ARaw SR dfeT dF & I
BTHB, MR Tad b A0 §, Ayl yfireT Fymr g1
Tg 313 o faefia & 4 T 81 g8 I U § A
TRR & TP DR & Ty | i 2, 9y =
¥ e dzavy R e & gvifad @R @,
dAfpT g8t B s Tau=y IR i wRie
TOT g1 7 @ Had, U, R 7 & THR ([
afed) ferftd & 12 &1 IdeT o § HaH g1 Pad
ST 3R nfhar # 39 Iwavu & faw smawus
TORH B 8 S s @ uerf SR &
Ygolid & HRU o 12 BT U Wpfae A & e
Tl 981 3R Tl IS ¥ I wied faeriad @
AR T PHad oAy fhugd-Uwawr & HeEH 9
3N U § IAed fHar o1 bl g

Answer: (C)

3o 3T, 21 2021

oY Uhdd

faoidr - AiaTe Sl @ fean
Jufaoidr - ST Aedda =)
Higdl Tebel

faorar - e NPT (SITaT )
Jufaerr - SFAwR st

T 39 2020

g2y Uhdd

ICECIERPNE SN E)
Jufaeid - a1 Siwifad @fean)
gud (31U 2020

Jo Qe .
faorar - Siffe few (3o
IUfIoidT - Sridgvie Savg (SHAT
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62.

63.

64.

65.

66.

67.

68.

69.

70.

App :- http://bit.ly/TesMusPrime

Answer: (C)

- FifS M 7 9 30T, 2021 BT URA H U RE B

gsm@ ffemed fewge YORM (ODR) §e§d @i
|

« ODR 3ETdd! & TR f3are) & JHTYH ©, Ay &g

B 3R AUH-USR & HHA! &1, f$iied doie iR

I fdare AU (ADR) &1 db-iib] BT IUANT

PP, O & i, voRar iR U9 vl enfe &

GRTI

Answer: (B)

TeWld &1 Jepisd IR Hed # Ja9 991 TR

JePpHed ¢l JeWid &1 JaepHed URAT & HH 9

Tt B JA H Aoled § SR SUDT gadbig Aot

TATHAT 18,000 T[T e Bl

Answer: (B)

S Bid & HRY DI 2021 TRES AR 3HdTS’ U

aﬂﬁ%aﬁug?ﬂuﬂ?ﬂueﬁvqmﬂ%wé?wﬁ%ﬁ

T g

g QDR 'J15cs UeHic BISSH §RI fadn |

I IR A Y BR IRSAR”® W (CWS) &

TR TREUT AP § |

2011 ¥ Pfd & SRY B A3 SAihed Aaset &

10,000 9 SFIGHGIT & =Y & Fu1-q foram |

3% 2012 H YA SAUTh e SHRHT THIWIRT & =0 o

AT 1|

32 2012 H BT gRT YR 1 Tfaaemen Afgemaes & ¥

T & &Y H g1 7471 1|

Answer: (C)

* gole XSl B BUTE U YUNTT 'BAdl TARE' O

g{;éﬁ?ﬁ%maﬁmmmﬁwmm%
=gf fod dare & e 3R YEe HHAR!

A Bid

* YHRIE SoTe YT 91T 3@ & fo dfes-3 arafd

B! YF3Td B! fafgd el g, S onf § i Hardt

3AT-YSAT Tl © 3R goic & Gua § 9% g1 ae A1

i P § Edl B

Answer: (B)

RIS ST 5 SRt A, Gl o T8R, Hargal ik 7

BT ) Seel WR &9 &1 IuANT Hrab SN BI T

2y S § Sear g

Answer: (C)

TRYH & e 321 H Iea fobar T § b e o

Ty faumHSa gRT s=rn T dis o siftfey gg

Wiep T ATANT I T @b AT SANT GRT Y 71 69

B} Yareli P Gay A sifaRed B UaH B Gl 2

Answer: (B)

(BRO) & 27 & HEIHeRI® & U & fgad frar mar g

I8 1 fedsR 2020 Ut Jar URY HH I

dftede SR gvurd Rig &1 ®H T80 fhar fos 3@

YRAG 1 & ¢ §eliaR-g9-91% & &0 H Fgad

foran man 81 sufe, fawed B Wl B

Answer: (D)

fay 9 (wB) 3 aférmr wRmr enffe wieg wR s

FdaH Ruid S 1 2

Answer: (D)

PR GRT SAMUAHTE & GRM Hides SHRSRI B

fcifed forar o 9bar 81 YRd & B URd |

MUTaHI & R ARy wfwm & gy RAfed fbar

ST B YR T T aRdfaes 3R G0 0

g&g | I8 YR I P THIHD GRSl Dl

|

5|Page

71.

72.

73.

74.

75.

76.

GAYE BT WG 359 YR &b APU Bl
T (3TRE 20 3R 3TRG 21 Bl w|sm<)ﬂ@;
IRM A AMIBRI & Uad= & forg fpeht off arererd
P WHEART HH & PR B [Adfed s &1
PR ATl

Answer: (A)

TS BI-arerd 1793 H T & RIRST Iog TaRT &
fore o S €1 9% et ¥ sfsan ot oik Ima &
SR & o9 siel s%¢ sfean dHuHt & forg ve Fifga
oG BT YT T & dadl B T qHaidr o fors
qed SHIGRI @I daa H YA HT ATTDHM 8P [HaT ol
S IR SHTYBR BT 3R I SdaR! J AoRd ThA
P BT DR gRTTI

Answer: (B)

YRAH 3R Wi 8 & fgueia enamg gour-2021
(VARUNA-2021) T 1981 TWHR0T 3RE IR H 40
gl

Te feuel snamg 25 ¥ 27 39 2021 & MR
foar mar a1

3T N B, YR AR BT Agd T SR
FHHTST I Weile RIR TSRS 350 SRR gRT far
T T

RN TR BT Add FHSR TR B 473, R
TSRA AT Higse A far

=9 fguela TRAfF® snarg @t geaid 1983 A gs &
3R 3Y 2001 H 'gwUr 1A far T U7

Answer: (C)

- YR "y & =g 159 H XUy AT g &
I 24 ISUUTd I 30 HEfad H UOW w9
Ugd HIAT 8N

- AU BT UG B X9Y AT I AR &b A
arTefer gRT fears i 8

« AU & BT BT FAdgd I a1 UdS afaa off
34} TRE Pt Uy 1YY HRAT &

Answer: (D)

AT 3R e gt o I pH 3yl 8.5 T ifdie B
el g} 1 diwg A 7.5 F 8.5 §, 3¢ a1 A
g, derge gt & farw 7.0 & U B

Answer: (A)

1986 T TR g3 TafaRol TRef0T gy, widra
FIE o TG TTRd oo am T, o fb 2 3 fqdeR &1 3|
DI ARL G 7| Ig B1d & GHY Bl Yoy HATGg AT
fAffa smuer Bt 359 T § Ay saNEaRs 1Y
ot Tt ot oA gOIRT T bt S o off SR Aral ay
DY S / RN T e 51 |
Answer: (D)

FERRA O, gt Rigm Aifq & F&§fa 31 s
D &I BISHR, AV THt Bl H&-Iod Jadf IR Rl
P & o =T fosan mam

TRBINAT SN BT RITIAT 1983 H HRA Bl $g TRBR
GRT B 75 i1 IRBIRAT MNT &1 AR fafve
UM R Fg-Iog Taeh Bt S HAT 3R YR P
Ay & e H Seard BT g ol |

Iy 1970 H AACATg PR GRT B% G g daelf W
TR F & o TewHAR 9t &1 18 fovar mar A
YRA WHR A 27 3{0d, 2007 Bl YRd & Yd T&I
et < TeH A Yot B e | hg o
Teef IR TS AN HT M6 fobar o1, fod dg-Isy
et & T eI B offd B 3 YRA & JIUH 3R
forary H fHu U 39 seadl & e H @1 T
2, S TRPTET 3MENT 7 € <¥h U g -Iod Jaid &
e, | fbu 31
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77.

78.

79.

80.

81.

App :- htt

Answer: (A)
« YR T34 Tbdl AN UeH PRl 2|
éqan?%whwaﬂ&mwﬁé:r%ﬁﬁmﬁaw
|
« YR FfAUT BT HIT 11 3gwsa 5 F 11 db ARSI
J Gsfd g
« YR ARG T U 1 & IR i §: oFH, 99, 0
ST 3R Ui
Answer: (A)
gﬂfﬁ It F 7% 2021 H 25dF IR AR&E TR Wds
|
JBi- Ugall IR 1994 H 24 I &t 39 H AT TRT
Tdg fbar Ul
IR K-2, A-3i1g, A, @YUl 3R @i SRt 3/
RYg Sifedl R it 9gE o1 81
ywaﬁaﬁﬁwaﬁﬂaﬁmwﬁmﬁrﬁ
|
FPad Habl 6 el H ATGE TRE 3R AT I P al
8000 Hiex Tl 1R Ig ard Uga YR a7 |
3 THYUT U HioH | &l IR ASC TRE $I dlct B
g B dTell gfr & ugelt Afear 1
Answer: (A)
<A YRAT TfauE H 22 HFT, 395 3w R 8
gl o
« YR AU YRA B T oY, eHifFRUe, THTSare:
T, G 3R AT BT YT 3T 8, 3R HiEaR
P IEIaT & BT UMY BT 8
- TfIYH BT YR B WU THT GRT 26 TGS 1949 Dl
3ftfiepR foram mar AT
« YR T AU 26 TaRT 1950 H ARL G
. UGBTI P aRM, 1976 H 424 Hayies I=ied
fAFTH gRT gHIErd 3R ¢ yHAROe™ Teal &
TR H SIST 71T T
Answer: (B)
SR o "o iHd Yaei & WI8" &1 Sa1E §, I ga
e & urg faurt & § = g1 SRR e o
ERT Y-S HH § §Id T Jad A § 1 590
Ud F31 el & 16 HETSHUC] B ST 3|
T fUed # g @ Saf¥a 10 89R G &1 T8 400
U1 Yd & U N H Ugel dig uRwg & aR &
Y ST 8, S ST IR $ TRer 7, fiig Aere Ty
DI sregerar § Sl gs ot |
Ty®, fag fes 31 gt s 81 98 961 8 Sfiad
¥ U H R g0 T 59 4 ©S § - HeERT 3R
FHEIATT | T8 §& P SIFRUT &7 qui o a1 g1
3fle New Aftes @1 sifom urT 81 sy g5
P! Rrensit &1 b Joad ¢ IR aafaqdl, geef &
T & a1 Afaswar, mfagm, 39 & Rigial @ Sefda
21 T8 91 Gt § i B

Mathematics

Answer: (A)

AT Ha g3 1200 St 1
gofeHi/gieT ¥ 99 &t T3

& =1200/3=400fbH!
s0fdHl/eieT § 79 & T8 gt = 1200/4
=300 fodt

Y g3 100 fpel/Ee | 0 B T8 =1200-
400-300=500fd+

9 400 forHl dg HRA | T 99T =400/80

bit.1
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82.

83.

84.

85.

86.

87.

88.

= 59°¢

300 e} T B | & GHI = 300/50

=6 °c

500 forHi} T B A & HT=500/100 =5 G
3OfT 3Nd A1t = 222 = 75 KM/HR

5+6+5
Answer: (C)

A x = /7 /7 INT ...

ST Uit 1 a7l el IR, B I BIa §: x2 =7x
AT x = 7

3T, 7 = (343)!

1=3y-3

y =4/3

Answer: (C)

g?ﬂﬁuﬁimxsﬁux%

X X 4x = 84 x 21x? =

3d: TSI YBT 4x = 4 x 21 = 84

Answer: (A)

JYR T TS AR = I IR F.17640 BT 1 99 Q4
AU + T T 17640 BT 2 IY d AL, 3f:

84 x 21
x =21

17640 17640
5 ¥ 5 \2
(1 +W) (1 +m)
20 20 20
=Rs - (17640 X —+ 17640 X — X—)

21 217 21
= Rs. (16800 + 16000)

= Rs. 32800

Answer: (D)

60 _45
Too* =N =150& M
TAPH Wx = 7y

Gﬁ?y=LXx

100

=Rs-

= K X 7
Y=T00" "
100

7
21
kW21%=Ex
Answer: (A)
9x6+24+8+20f5—-30+40f4
BODMAS faH SR] &A1 -
=9Xx6+24+8+10—-30+16+27%x5+9

100 _

=3
7

Answer: (A)

T3 HHAR! T & 1P| B AT = 14C1

AR HHARI T & Al B AT = 12C1
3T T = 14CT x 12C1

=14 x 12 = 168 Wb

Answer: (C)

T B BT 3T 100x &

dl A B 3T = 100x — (100x) x 60%

= 100x — 60x = 40x

31l Tfere = == % 100 = 22 x 100 = 150%
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89. Answer: (A) M=24+H
M = 24 + 56 = 80
94. Answer: (A)
O SR P URINS T = S Tl et
W ¢ & a1g i 2 fopely/der 9g St 3, U R He
U & aTe T B gl enl-
el oY BT B W\ = n (T = 16 sREft+ s+ 2R+ s+ B+ .+ S+ 19
B B T O arelt S = TF @) = 18 e
P BH = n (AUB) = AT B P Gl = 85 + 56 fbHT = 728 fobft
N (AUB) = n (A) + n (B) -n (A)B) 8S = 728 - 56 = 672 foe
30 = 16 + 18- T (NS S = 672/8 = 84 fpefi/eer
n (ANB) = 4| 95. Answer: (D)
90. Answer: (C) 2A =3B =5C
el ST = 21 2,3,5 BT TAETA 30 ]
T, B U= x 3R AN Jed = x MABC =222 45106
o x 96. Answer: (D)
X —Top X ¥ =21 i Tl @1 ROy oMU ok WU, fy MU
X2-100x + 2100 = 0 g B g: 8 x 7 =56 3R 8 x 13 = 104
X2-70x-30x-2100 = 0 3d, 56 3R 104 HTAT. = 56 x 13 = 728
T = 30 3R 70 I [eUP:
STy e & AT Jed 30 A1 70 § s Temsft &1 ROy SFUd SR wHm. fiu mu
91. Answer: (B) % TReafi BT A9, %:7 x 13 x 8 =728
HFETCP = 100 9 97. Answer: (D)
MP = 160 T (AT + Q) x 24 = @A+ fd) x 15 + A x 16
SP = 160 x (75/100) = 120 U T :fd=7:9
Y = 20 T AT fd gRT o ¢ & &t e x gl
% Y = 20% 16 X 24 =9Xx
92. Answer: (C) = % fe=
BN 98. Answer: (B)
s A B = 4: 1 A 3R B &1 BT & T 3FUTd = 3 : 2
10TAF G T = 4:1 HAT A, 3 g/ auT B, 2 e/ S FRaT®
B, A: B = 2: 3 gRT Ui faar T ], A 10 o § B TH P bl 7
=46 3d: $d M = 10x3 = 30 JHT
gl 5 U 101 $H 1 1 — 2 F R & @, B B B T A | fe @
3R, (4 +6)*2 =20 _ _totalwork__ 10x3_ 45 fag
Yfth URfe 3R 3ifqd 7B TAE § 99 An Seff”.'e”;y 2
Eﬁéﬁ&mao‘iﬁ‘d’r:zoqa . 1;{nswer.( )
Em‘}mﬁintially=4/5*20= 16 165 ami“'ung 12 R T
P =TT God/faha T = 12/16 = 3/4
5=1°B=7 3T IRAY = (4-3) = 1 3PS
T+t = MY = 1/3 x 100 = 33.33%
Tl V OIR B Hd A § =12 Q¢ = 6aMH
R U =4/5d ot = 1/5 = RQC /Y =172
gfe faryur 7 10 Tfiex el & & 1Y gad fear T §, = Q¢ /Y = 0.5/1
3 S 2: 3 QY ST e Tfh MY e BT AR,
31d: 10 THex I § A 3R B BT UIT = (4/5) x 10 3R cp - Sp . MP
(1/5) x 10 3, 445 45
= T® HIT = 8 ¥R BC % = (0.5/4.5) x 100 = 11.11%
= BPHTYUNT = 2 Itr 3R =33.33-11.11 = 22.22%.
AR BFH TTHURTE (A - 8) Itr R (B-2 +10) = (B + 8) 100.  Answer: (D)
sttr Income  Expenditure  Saving
W 8): @+ 8 1000 750 250
8—(q (')'f[— ))A 8 23(A 8) ié?)(go 9éo zslso
B+8 3 4 %4-8 3 Required%—950 750)(100—%
A A 5 2
= (Z+8)3A—5=16+24EA=40A =265
o3 ;16ltr © 101. Ans%lrver: (D) 5 -
. nswer: Uy ¥ fQU Ao UhR S gohdl B
$+&r§§rﬂm+s®ﬁﬁ=7zxa=z16 ......... (i) ey 1 & 1 ¥
+ + S8 = 64x3 = 192 ........ i =5
() & 9 (i) FoH W, " J22+(\/§)2—2X2\/§ 2=
T - 3fde/ = 216 - 192 = 24 s UM BT B,
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102.

103.

104.

105.

106.

107.

108.

App :- htt

2 +V/3=2+173

=3.73

Answer: (A)
mﬁmx@?yﬁﬁcﬂﬁ,
x:y=4:5

HCF (Wg<TH §HIUa ) = 16
x=4x16=643Ry=5x 16 = 80.
TReraff BT AT = 64 + 80 = 144,
Answer: (C)

gt adt 7 6% U 99 & WYRY A WR 600 G
IR e

Principal x Rate x Tine
YR AT = —pr X "ae x e

100
mwmm:“’j.%:m.w;

Sty IR = gAY + HIUROT ST

= 600 T + 144 JUY = 744 3UY

Answer: (D)

i GHI H U BIS Uh UY B §d ST AT G UY I g
HI I UY & 81 ST, < A=A Uiieedl g

AL *ETHT / 100

14
_3.5+2X2+3_2_§§2
5 33 5 573 4+ +5
_3+z+6 13

15 15
Answer: (C)

ﬁ'qTTITIT%,x+y+z=1O

SX+y +2)°2 =102

=S x>+ y2 + 22+ 2(xy + yz + zx) = 100

=X +y*+22=100-2x15=70

b, X3 +y3 + B -3xyz= (X +y +2) (R +y2 + 22— xy
—yzZ —2X)

=10 x (70 -15) = 550

Answer: (D)

RO &t o G = 23 = 8

foeg@ & RR = 3 (HHT, HTH, THH)

STIRAH HUTIT = 3/8

TN, IR fawey D 71

Answer: (C)

g1 Yl &1 9 iR

o AT & A SR B @ oiited Ig=g §1 a9
AAB=(A-B)U(B-A), BT A 3R B &I GHMT 3idR Hgl

AT gl
37 NI H BHIfbd HFT A 3R B & JAMT 3R Bl
E{Qﬁ?ﬂ%:

A B
A WA € b 99 @ # srifed Wi &1 fFRefud
PR aTel = A 3R B BT JHAT 3R §1
fear e A=1{1,234,5 6 3RB={1,35709 11
T-W={2 4 6 3R -T=(7,09 11}
= AAB=(A-B)U(B-A)={2,4,6,7,9,11}
31ct: faped C T B
Answer: (B)
V45 -V54 V9x5-V9x6 3V5-3V6
V20 —V24 VAXS5-VAx6 2V5-2V6

bit.ly/TesMusPrime 8|Page

109.

110.

111.

112.

113.

114.

115.

116.

3W5-v6) 3 11

2(W5-V6) 2 2

Answer: (D)

AT IS T 3Hfhd Ted 2100 ©

T4, 9t HANTT o e & 916 HIAd

=100 x (100-8)% x (100-15)% x (100-12)%

=100 x 92% x 85% x 88%

=100 x 0.92 x 0.85 x 0.88 = ¥68.816

JC = 100 - 68.816 = T31.184

BT % = (31.184/100) x 100% = 31.184%

Answer: (C)

B MADR Tl B Bsar = 0.7 It

SAIHR T BT T = 7 Jeft

SAIHR Fc o1 B = 772 I+t

Eﬂwﬁﬁaﬁﬁwﬁﬁwéﬂﬂwaﬁqﬁsﬁ
=k

K MR Tl &1 Aadd St STl Sidl @ = SaThR

- BT 3T 5.6 T4t db ©

:kx%xnx0.7x0.7x0.7=nx§x§x5.6

=k =150

Answer: (D)

22 = TSR = 2

?;[ﬁ'?, z=2k 3%? x=4k W)“.%k

.x+z_4k+2k

Ty T 3k

Answer: (B)
uﬁﬁmw%%@ﬁ):s

3
@M (a+2) =a®+5+3(a+2)BTHA
a3+%=(5)3—3><5=125—15
=110
Answer: (B)
feam 2: 30 TR 7 AT 3h = 30
- 7TAd MR= 50 x 30
= 1500
TR,
eI MR=1500 - 33 + 73
= 1540

1540

e 3l = = 2
=308
Answer: (C)
HHET C &1 31 = 100
TG B BT 3T = 100 + 24% = 124
A DI 3T = 124 140 % = 49.6
3rd: 3y ufawrd = 1222224 100 = 101.6%

49.6

Answer: (D)

afird sgys &t Ysisfl &1 - =
(TP DI BT TNT+360°) / 180°
~ 1620°+360°  1980° "

- 180° T 180°
Answer: (B)

$d faarst = 300

e § RaafSal ® T-AT = 300 HT 22%

=66
Theaid U Ryanfsal & Tam = 300 &1 9% = 27
- 3R = 66-27

= 39 foare!

fafer. 2

3R = 300 BT (22-9)% = 300 BT 13% = 39

Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

UP_SI_2023 TEST ID - USI - 887702527

117.

118.

119.

120.

121.

122.

App :- htt

Answer: (A)
Pd faarst = 300
gD + Hedid | faasdl &1 W& = 300 BT (21% +
17%) = 114
21 gi! Faael 8k oS T3,

P At = 114 + 21 =135
éﬁm mer # foafsal &t =@ = 300 &1
(8%+23%) = 93
Tfg 9 faarst Bis M, a1
Sdgufaarel =93 -9 =84
SUTd = 135:84 = 45:28
Answer: (C)
P faerst = 300
TRIBCTIA H RAATSTT DI T-AT = 300 HT 9% = 27
o o Raenfsal &) e
=300 BT 23% = 69
s T Reatsal o T
= 36 (GR&bedld H)
TRacaid ¥ o Raarfsal o =
=27 + 36 = 63
MY 3R = 69 - 63 = 6 TS
Answer: (D)
W=P(1+ﬁ)n
S SISl BHTE! SaifoTd fhar ST g -
e = 20/2 = 10%
Y = 2x 2 = 49§

10 \*

A= 5000(14+ m)
=5ooo(%)
= 73205
Thgla SIS = IR - TAUT
= 7320.5 - 5000
=2320.5 300
Answer: (C)

03 ] E

2

8
feargsn® AE=2BD

AE/BD = 8/3

B9 A § f knowACE 3fR DC BDC Ueb GHM Ay
g BD//AE)

Area of ABDC/Area of AACE=Aside

BD)%/Aside AE)?

= N3/8)?

=9:64

Mental Aptitude Test

Answer: (B)

S, TR BT GMT fobad | §77aT1 2|

= UBR, Y} BT GHT UGl § ST @ (FbT HLANUT
Ufehal gR)

3fct:, fapeu B W& IR B

Answer: (A)

bit.ly/TesMusPrime 9|Page

123.

124.

125.

126.

127.

128.

129.

bl BT T A §Y, V Jo T @ RIM 3RV &

§9 H 3 B W@ 21 T SR W BIF B T, VP

%ﬂ%rrat.rﬁtﬁa"rﬁwésw%mﬁ$aﬂ$ww
|

T
M

R

H

Vv

3T, M 3R T, R T FWIT 3

Zqferg, fawed A T8t SR B

Answer: (D)

e S B 39 USR Tial o Yebdl &
P(-) R(+) (Q)

i, U8 Siihsl daT § fF P, Q @I T8 Bl

@, I8 IR fApeu St 31

Answer: (B)

TS YEHAR + 2 §, T AR

Hd THAR BN & & d1¢ HI i FIEAIR BT 3R

HITR & Gl & §1e FaR g

i, fased (&) It ufafhar 21

Answer: (D)

4 T8 ¥ 15 3R a% P ol DI G

-7+ 15) =

SifaRad fei &t T = 42/7 = 0 @)

gﬂw, 15 3RA P f&d @TA@ER +0)
|

39ferg, fdehed D W& IR B

Answer: (C)

AP & S, g WE § b, IR P (C) Uy K7

Il VI TR I & 916 U TpTd bl T B

= HIdR

31T, ey C TEI SR B

Answer: (B)

TH IYUPR @
(6-53=13=1-(9—5)3 =43
=64-(7—4)3=33=27

gAY, (13 — 8)3 = 53 = 125
gqferg, fawed B U8 ST B

Answer: (A)

3 TS TFHRI & SNR,

B ! Uil T Ufd B T 81 i, A, B T HTS &
U USR C 3R D &1 B IR A B 963 2
g WY ¥U I cxidr e i A, C BT HE B
i, fased (U) gt ufafhar g1
Answer: (B)

T ST 3R & -
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130.

131.

15

132.

133.

134.

App :- htt

students

listners

observers

frp:

. B O, ddad § (T8 IR0 gl Il © i
uy § fear mar 1 Fy= ang A g | ®ife 3o
BH, THAEF )

. $ Tde®, BH 6l ¢l (8 SIERU ol Il §
i B3 B, Tag® Tel 2)

Il B T, ST &1 (T8 SIER0 BT & Flb $S
g, Tdde §1)

TTY, Fad B 111 IR0 T & |
gy, fadey B U8 S 71

Answer: (A)

42 -3 45 -7 _+11 _-13
G—-1—-F—>K—D—>0—B

3fog, fawey A 98l W B
Answer: (A)
fayar ghm,
+8 48

1

+20 3s +28 63 +36 'EI +44 143 +52 105
I R B

31 fashey A TEI ST B
Answer: (A)

fedt Fage o 3@ & 51 v AT IRTS B

UIde &1 RIEd dfST R g el iR wad

TuTaeTe R F ok e DI mﬁmﬂw:@é‘r

Tt uree & B ST HAT =IfRT JUr U &

%@?Eﬁﬁmﬁweﬁ?ﬁmﬁw
|

Answer: (C)

Td 3HH: 4, 10, 20, 34, 52, 74, 100, 130
us?f&m% 6, 10, 14, 18, 22, 26, 30

qd AAT=52+18+4=74
TN, Tt I I € B
Answer: (C)

DYA:

1.0, $RM 3R 79 &1 $d MY 278 @8 3had
e §1)

T T B I 3 x §
S, SERM ST I 31 = 2x
3R T B IIHM TG = 2+2x
TR,

X+2X+242x = 27

=5x+2 = 27

=5x=25

=x=5

ST, IIRM $I 3 = 2x5 = 10 T

FU:
2.3, T A TS 21 (8 et T A 2)
Mg, B 1 31pd T B

bit.ly/TesMusPrime
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135.

136.

137.

138.

139.

140.

g9, faded C 981 SR B

Ag{swer:(B)

| :

UE 3PV UH BT IR Tl & Tl 3 Hifp HIS wafed
Glgwré’rﬁvﬁ:lﬁ%l

I

g Wt 3l UY BT IR T & Fehal § Hiich Pbls

nma?wﬁm faTa ot oy = @ B Y

T S & b oA 3 oy, 3 3R Fera & fireaR
3T & ISR g

3, 2x + x + x = 32

Y, x = 8

T &1 3R] = 8 a9

3Yferg, Sl HYF TH 1Y TP B |

s, fded B 98 SR

Answer: (B)

g & Gt 31&R JUMATCT ST & TR S9d AUl
&R gRT AT e wird &

IR frR FgfiRad e & soafyd gid g

M O B I LE

Y LNV OR

WY ¥U ¥, HiG3d DI YLNVOR & ¥4 | Sifsd fobar
ST

Answer: (D) %
TgT Uy 3P IR M & Tgt adids § sfariigd
1 3 R =T m §:

o fahed D 9el SR 2

Answer: (A)

letter |P|S |Y|[C|H|O|A|[N]|L

Code |! |@|# %% |~ |&]* >
CANALsﬁ$&*&<@$wﬁﬁ%‘dmm|

i, fdhey A T8 SR 81

Answer: (B)

T T Uy Spfa B I\ & 91e, T8 WP B b R
i el B faU T U SM1epfd bl Q1 |

Answer: (C)

SIS UIR @Il Il & o 98 MEraR feers &

IR 1:
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Direction

141.
142.
143.
144.

145.

146.

147.

App :- htt

IROT 3:

O 0O
O
O 0O

3gferg, fased ¢ T8 IW B

(141-143): JGIUH &1 T [¥ad &
Udd e | UAD &R P 3Si JUiATAT P 3T 3MeR
Q Jae ST g1 ISR & 1T A $) BV geal ol g,
H P | Y JGaT ol 8 3R 3 ot 33 UeR srgar S

gl
ﬁ%ﬁ?ﬁﬁmﬁwaﬁwwaﬂﬁﬁqamw
g 3R R 39 F= 1 ST Sl 81 IS8R0 & g
54 = 54+54+1=109 ¥ Scal odr gl Tt Twmsit
oI 39 URST | afyd fbar e 81 3ict: iU Y 3qe
BT IR f9ad I

%Yc- bvgr ktwq 64 96 18 36 11 rexv cgby asdf
IO sfyw 193 bvgr ktwg 64 18 36 11 cgby asdf
TROTNI: luxr 129 sfyw 193 bvgr 18 36 11 cgby asdf
TR 1: dhez 73 luxr 129 sfyw 193 bvgr 18 11 asdf
TROTIV: cwhs 37 dhcz 73 luxr 129 sfyw 193 11 asdf
TRUTV: bteg 23 cwhs 37 dhcz 73 luxr 129 sfyw 193
Answer: (A)

Answer: (D)

Answer: (D)

Answer: (A)

TopTHS SHTRAT, U afad ¥ gur ofad § Ucief Tudh
¥ gRI il 81 SHIBIES, U Tepie AR ¢, 39 e
T HY B U 51 gerl o 9l g

3{ct, Pad Ay | g 21

Answer: (C)

quit & RIS AF T UG fHam 71 § 58l A=1, B=2,
C=3 3R foudid =g 7= &1 ff v fear m B
W8T =1, Y=2, X=3 3R 3 YR 3m7 i

AZ, BY, CX 301G IR T §-11d ¢ | T T} b1 SWRIad
sigel § TaT T ST |

BY-DW

HS-JQ

Answer: (A)

FYT | T

D T goi 40 [

C BT IS (40 + 10) = 50 kg §

B T o (50 + 20) = 70 kg ©

A T TS (70-18) = 52kg ©

TeTehT SRl g LT 253 fehalH §

3T UBR, HU | QU 7T 9% &1 IR 37 F fon mai g
3R HY 11 T TT U HT IR 37 & forg yafed 1t 31
Answer: (B)

Uy H TS P BT AFYAD AL B & 916, T
Wy g & & 5 Uy Sl IR Snpfa (B) H sidffed
&1 8 =itd &1 7S 3epel o STER g it

bit.ly/TesMusPrime
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148.

149.

150.

151.

152.

153.

Answer: (D)

A 21 T T B e @ 2 e, T w0
2 5 < i Uy enefa SW enpfa (D) W SiaffRd B
Tg = fean man fomar mar §:

Answer: (C)
Ty 3P o1 ufafed ST UHR 81T -

) )

¢ O
= =

Mirror
Answer: (A)
+6 +6 +6 +B6
' . ¥ v
AL GT MM SH YB
I { N I
-6 -6 -6 -6
Answer: (B)

%ﬁ&wﬁﬁéﬂaﬁ%aﬁ&ﬂ?ﬁ@)&ﬂ?ﬁﬁ%
|

31 faepe B T B

Answer: (C)

;—L\ Eﬂr\ ]:E[{ MY SO RE
A o J.-. :n'__

TT \l‘iﬁl lﬁ YM OS5 ER

I
NBE WT RF 1|1'p,; r!rlr ESl
Answer: (A)

:
G ()=
frsp;

. S U TR | (I8 HYUF BT TR0 T 8)

11 Y AR WIS T8 §1 (U8 HYUH BT TERVT Bl 9)
|||.aﬂs%)nﬁmﬁﬂ?=r€f%| (T8 YT BT FTIRT gl
FAT )|
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Fad Frepy | 3R 11 SRR A §
Toferg, fadwed A I8 S 3|

Answer (154-156):

154.

155.

156.

157.

158.

159.

App :- htt

1) B8 AT M 3R G & o1 591 3@

2) R faww GBI arelt d@ioid WR A8 dfews dieR! #ioid &R
eI

3) H, R % 31 A1 a1 B

4HH ARG H T A 3P AT IS A
CASE 1
FLOOR PERSONS
8 M
7 R
6 H
5
4
3
2
1
CASE 2
FLOOR PERSONS
8 G
7
6
5 R
4 H
3
2
1 M

5) P, Q q qRd SR I8l ¢ Afd N & - g

6) O, R Y A T|AT B

%Wzﬁmmﬁmmaﬁ?@w 1 SRy
)

7) Q G % 31% FHW 6] Tedl Ul

FLOOR PERSONS
8 M

NwihiUnio| N

O|lo|0|w|zZz|lxT|=™

1

Answer: (D)

3oy, fdhed D T8 SR B

Answer: (C)

3gforg, fawey c g8t IR Bl

Answer: (D)

zafe, fded D &l S| B

Answer: (B)

FHad U IFId 1T TUIT! g A # ifd AU R
Tt 21 9 UPR Pad B || Sidi-ifed g1
3gfery, fased B T8I SR B

Answer: (B)

FYT F IIUR, 3T Hg! Hgad HRd & df TI&T B
RlUEZGIRICE]

3 UBR, had fayrun || Rk Bl

Answer: (D)

ST 6 U B H g1 T § % il R T, g i
? T Rrg ufpar & gR1 o=it A9 & Iy 7 uRafdd

bit.ly/TesMusPrime
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I 8, I8 @S &1 O gl 39 TR, ey |
3R BRAT &

Il 3FIEROT T8} Rl § P HYT A 3R uRrl &
Ay FHFEAIST 1 T8l el §; 9 IH FU § g
a3 € b 7 Y ) & e =)

160. Answer: (B)

w%siawa's'ggrs{@%%

A 6 B
39 4 7% Al & R, 86 Mafiad sfider o gim
== 6 C 6 —— ]

A@?B%%%raﬁ‘g{\;mﬂa%l °
DAILY
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